CITY OF EL PASO, TEXAS AGENDA ITEM DEPARTMENT HEAD'S SUMMARY FORM

AGENDA DATE: June 22, 2021
PUBLIC HEARING DATE: Not Applicable

CONTACT PERSON(S) NAME AND PHONE NUMBER:

Richard J. Bristol, Director of Streets and Maintenance, 915-212-7000

Bruce D. Collins, Director of Purchasing & Strategic Sourcing, (915) 212-1181

DISTRICT(S) AFFECTED: All

STRATEGIC GOAL: No. 7 – Enhance and Sustain El Paso's Infrastructure Network.

SUBGOAL: 7.2 – Improve the competitiveness though infrastructure improvements impacting

the quality of life.

SUBJECT:

Discussion and Action on the award of Solicitation No. 2021-1071 Parks Litter Control to Delta Unlimited, LLC dba Delta Pest Control & Lawn Services for an initial term of three (3) years for an estimated amount of \$2,335,707.00. The award also includes a two (2) year option for an estimated amount of \$1,557,138.00. The total value of the contract, including the initial term plus option for a total of five (5) years, is for an estimated amount of \$3,892,845.00.

BACKGROUND / DISCUSSION:

This contract will allow for the cleaning and removal of trash and debris from all park areas and to rake sand in playground areas. This contract will allow for the enhancement of identified areas as well as improving the image of the areas in which they are located.

SELECTION SUMMARY:

Solicitation was advertised on March 16, 2021 and March 23, 2021. The solicitation was posted on City website on March 16, 2021. The email (Purmail) notification was sent out on March 18, 2021. There were a total fifty-five (55) viewers online; six (6) bids were received; all from local suppliers.

CONTRACT VARIANCE:

The difference in price, based on comparison to the previous contract is as follows: A yearly decrease of \$259,172.08, which represents a 24.97% decrease due to price decreases.

PROTEST

No protest received for this requirement.

PRIOR COUNCIL ACTION:

N/A

AMOUNT AND SOURCE OF FUNDING:

Amount: \$2,335,707.00

Funding Source: Environmental Fee Fund – Grounds-keeping Horticultural Contracts

Account: 451-2305-51295-522210-P5120

COUNCIL PROJECT FORM (Best Value)

Please place the following item on the **REGULAR AGENDA** for the Council Meeting of **JUNE 22, 2021**.

Strategic Goal 7: Enhance and Sustain El Paso's Infrastructure Network

The linkage to the Strategic Plan is subsection 7.2 – Improve the competitiveness though infrastructure improvements impacting the quality of life.

Award Summary:

Discussion and action the award of Solicitation No. 2021-1071 Parks Litter Control to Delta Unlimited, LLC dba Delta Pest Control & Lawn Services for a three (3) year term estimated amount of \$2,335,707.00. The award also includes a two (2) year option for an estimated amount of \$1,557,138.00. The total value of the contract, including the initial term plus the option is five (5) years, is for a total estimated amount of \$3,892,845.00. The award of this contract will allow for the cleaning and removal of trash and debris from all park areas and to rake sand in playground areas.

Contract Variance:

The difference in price, based on comparison to the previous contract is as follows: A yearly decrease of \$259,172.08, which represents a 24.97% decrease due to price decreases.

Department: Streets and Maintenance

Award to: Delta Unlimited, LLC dba Delta Pest Control & Lawn Services El Paso,

Texas

Item(s):AllInitial Term:3 yearsOption to Extend:2 years

Annual Estimated Award: \$778,569.00

Initial Term Estimated Award: \$2,335.707.00 (3 years)
Total Estimated Award: \$3,892,845.00 (5 years)

Account No.: 451-2305-51295-522210-P5120

Funding Source: Environmental Fee Fund - Grounds-keeping Horticultural Contracts

District(s):

This is a Best Value, services contract.

The Purchasing & Strategic Sourcing and Streets and Maintenance Departments recommend award to Delta Unlimited, LLC dba Delta Pest Control & Lawn Services, the bidder offering the best value bid and that Border TM dba industries, Inc. dba XCEED Resources be deemed non-responsive due to not completing the bid form in its entirety and that L&J General Contractors, LLC be deemed non-responsive due to failure to acknowledge the amendments included to this solicitation.



			CITY OF EL	PASO BEST VALUE SO	ORESHEET								
PROJECT:				2021-1071 P	arks Litter Control								
			Evaluation	of Submittal									
	Delta Pest Control Ace Government Services MG Evergreen ASEO, Inc Xceed Resources - Non Responsive												
Factor A - Cost		MAX POINTS											
Group 1 - Cost			\$ 2,335,707.00	\$ 2,458,233.00	\$ 1,808,520.00	\$ 2,584,560.00							
Group 1 - Points		35	27.10	25.75	35.00	24.49							
Factor B - Reputation & Quality of the	e Bidder's Service	15	15.00	15.00	15.00	10.00							
Factor C - Bidder's Quality Assurance	surance/Control 15		15.00	7.33	0.00	0.00	Non-responsive to all the requirements in the	Non-responsive to all the requirements in the					
Factor D - Employee Medical Benefits	and Incentives	10	6.00	10.00	2.00	0.00	solicitation	solicitation					
Factor E – Past Performance		25	25.00	25.00	25.00	8.33							
Total S	Score	100	88.10	83.08	77.00	42.82							

		2021-	1071 Parks Litter C Bid Tab Summary			
No.	Bidder Name	Group 1	Group 2	Group 3	Group 4	Sum Total Group 1, Group 2, Group 3 and Group 4
1	Ace Government Services, LLC	\$2,301,156.00	\$138,621.00	\$18,456.00		\$2,458,233.00
2	ASEO, Inc.	\$2,488,200.00	\$56,760.00	\$39,600.00	The Ottober allocated	\$2,584,560.00
3	Border TM Industries. Dba Xceed Resourses	\$2,508,905.88	\$436,464.06	\$162,720.00	The City has allocated \$50,000.00 for unscheduled events for	\$3,108,089.94
4	Delta Unlimited, LLC dba Delta Pest Control & Lawn Services	\$2,004,756.00	\$240,951.00	\$90,000.00	the initial term of this contract – 3 Years. See Scope of Work for	\$2,335,707.00
5	L&J General Contractors, LLC	\$90,170,773.68	\$955,908.00	\$1,375,704.00	pricing details.	\$92,502,385.68
6	MG Evergreen	\$1,664,520.00	\$143,790.00	\$144,000.00		\$1,808,520.00





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071 Department: Streets and Maintenance

Bid (Opening Date: April :	28, 2021									and Maintenance
			Ace Go	vernment Servi	ices LLC		ASEO INC.	,	Bord	er TM Industr	•
										Xceed Reso	
				El Paso, TX Bidder 1 of 6			El Paso, TX Bidder 2 of 6			El Paso, Bidder 3 o	
				Bluder 1 01 0	Group 1: All	Year Schedu		,		Blader 3 c	11 0
		Fatimete d		Annual			Annual			Annual	
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC
1.	Alethea	52	\$25.00	\$1,300.00	\$3,900.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
2.	Armijo	52	\$129.00	\$6,708.00	\$20,124.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
3.	Austin Park Pond	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
4.	Billy Rogers Arroyo	52	\$32.00	\$1,664.00	\$4,992.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
5.	Boys Club	52	\$49.00	\$2,548.00	\$7,644.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
6.	Buena Vista	52	\$19.00	\$988.00	\$2,964.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
7.	Calendar	52	\$50.00	\$2,600.00	\$7,800.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
8.	Caruso	52	\$11.00	\$572.00	\$1,716.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
9.	Cavalry Man Triangle	52	\$54.00	\$2,808.00	\$8,424.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
10.	Chihuahuita	52	\$28.00	\$1,456.00	\$4,368.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: __/s/___ DATE: _5/19/21_____





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071 Department: Streets and Maintenance

Bid (Opening Date: April 2	28, 2021									and Maintenance
			Ace Go	vernment Servi	ices LLC		ASEO INC.	,	Bord	er TM Industr	
										Xceed Reso	
				El Paso, TX Bidder 1 of 6			El Paso, TX Bidder 2 of 6			El Paso, Bidder 3 d	
				Bluder 1 01 0	Group 1: All	Year Schedu				Biddei 3 d	11 0
		Estimated		Annual			Annual			Annual	
ITEM	Site	Weeks (A)	Weekly	Amount C=AXB	3-Year Amount D=3XC	Weekly	Amount C=AXB	3-Year Amount D=3XC	Weekly	Amount C=AXB	3-Year Amount D=3XC
			Price (B)	C-AAB	D-3AC	Price (B)	C-AAB	D-3AC	Price (B)	C-AXB	D-3XC
11.	Cielo Vista	52	\$72.00	\$3,744.00	\$11,232.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
12.	City 3	52	\$54.00	\$2,808.00	\$8,424.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
13.	City Hall Parking Lot	52	\$54.00	\$2,808.00	\$8,424.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
14.	Cleveland Square Plaza	52	\$80.00	\$4,160.00	\$12,480.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
15.	Cork	52	\$19.00	\$988.00	\$2,964.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
16.	Crestmont	52	\$72.00	\$3,744.00	\$11,232.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
17.	De Vargas	52	\$39.00	\$2,028.00	\$6,084.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
18.	Doniphan	52	\$21.00	\$1,092.00	\$3,276.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
19.	Duke Court	52	\$12.00	\$624.00	\$1,872.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
20.	Dunn	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: __/s/___ DATE: _5/19/21____





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Ria (Opening Date: April :	28, 2021							Departm	ent: Streets	and Maintenanc
			Ace Go	vernment Servi	ices LLC		ASEO INC.		Bord	er TM Industri Xceed Reso	•
				El Paso, TX			El Paso, TX	•		El Paso,	
				Bidder 1 of 6			Bidder 2 of 6			Bidder 3 o	
					Group 1: All	Year Schedu				2.0.00.00	. •
				Annual			Annual			Annual	
ITEM	Site	Estimated	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount
		Weeks (A)	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC
21.	Eastwood	52	\$214.00	\$11,128.00	\$33,384.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
22.	Edgemere Median	52	\$88.00	\$4,576.00	\$13,728.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
23.	El Barrio	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
24.	Estrella Rivera	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
25.	Fire Fighters Memorial	52	\$54.00	\$2,808.00	\$8,424.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
26.	Grace Chope	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
27.	Haddox Family Park	52	\$47.00	\$2,444.00	\$7,332.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
28.	Hawkins, including pool	52	\$74.00	\$3,848.00	\$11,544.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
29.	Houston	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
30.	John R. Karr Par	52	\$21.00	\$1,092.00	\$3,276.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank





Project Name: Parks Litter Control
Rid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Bid (Opening Date: April:	28, 2021							Departm	ent: Streets	and Maintenance
			Ace Go	vernment Serv	ices LLC		ASEO INC.		Bord	er TM Industr Xceed Reso	•
				El Paso, TX			El Paso, TX			El Paso,	
				Bidder 1 of 6	O 4- All	V0-b	Bidder 2 of 6	.		Bidder 3 o	of 6
	I	ı		Ammunal	Group 1: All	Year Schedu		ı	1	Ammund	
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
31.	Lincoln	52	\$139.00	\$7,228.00	\$21,684.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
32.	Lionel Forti	52	\$139.00	\$7,228.00	\$21,684.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
33.	Lions Plazita	52	\$73.00	\$3,796.00	\$11,388.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
34.	Liz Morayma Gonzalez	52	\$32.00	\$1,664.00	\$4,992.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
35.	MacArthur	52	\$31.00	\$1,612.00	\$4,836.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
36.	Madeline	52	\$55.00	\$2,860.00	\$8,580.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
37.	Magoffin Park	52	\$17.00	\$884.00	\$2,652.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
38.	Marv Webb	52	\$33.00	\$1,716.00	\$5,148.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
39.	Memorial Alta Vista Ball Field	52	\$31.00	\$1,612.00	\$4,836.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
40.	Memorial Park & Rose Garden	52	\$182.00	\$9,464.00	\$28,392.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: __/s/___ DATE: _5/19/21_____





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071 Department: Streets and Maintenance

	opening Date. April 2	-0, -0-1	Ace Go	overnment Serv	ices LLC		ASEO INC.			ler TM Industri Xceed Reso	
				El Paso, TX			El Paso, TX			El Paso,	ГХ
				Bidder 1 of 6	Group 1: All	Year Sched	Bidder 2 of 6	5		Bidder 3 of	f 6
				Annual	Group I. All	Teal Scheul	Annual		Π	Annual	
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC
41.	Memorial Reserve	52	\$66.00	\$3,432.00	\$10,296.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
42.	Mesa Terrace	52	\$19.00	\$988.00	\$2,964.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
43.	Mission Hills	52	\$80.00	\$4,160.00	\$12,480.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
44.	Modesto Gomez	52	\$112.00	\$5,824.00	\$17,472.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
45.	Mundy	52	\$18.00	\$936.00	\$2,808.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
46.	Murchison Rogers Park	52	\$68.00	\$3,536.00	\$10,608.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
47.	Newman	52	\$64.00	\$3,328.00	\$9,984.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
48.	Normandy	52	\$12.00	\$624.00	\$1,872.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
49.	Paseo De Los Heroes	52	\$33.00	\$1,716.00	\$5,148.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
50.	Pennsylvania Circle	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank





Project Name: Parks Litter Control
Rid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Bia (Opening Date: April 2	28, 2021									and Maintenance
			Ace Go	vernment Serv	ices LLC		ASEO INC.		Bord	ler TM Industr	
										Xceed Reso	
				El Paso, TX Bidder 1 of 6			El Paso, TX Bidder 2 of 6			El Paso, Bidder 3 d	
				Bidder 1 of 6	Group 1: All	Year Schedu				Blader 3 (or 6
				Annual	Oroup 1. An	Tear Ocheac	Annual	Ι		Annual	
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC
51.	Percy Gurrola	52	\$19.00	\$988.00	\$2,964.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
52.	Pioneer Plaza	52	\$47.00	\$2,444.00	\$7,332.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
53.	Ponder	52	\$117.00	\$6,084.00	\$18,252.00	\$55.00	\$2,860.00	\$8,580.00	Left Blank	Left Blank	Left Blank
54.	Portland	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	\$8.40	\$436.80	\$1,310.40
0 4.	1 ortiana		Ψ10.00	4700.00	\$2,040.00	400.00	\$2,000.00	ψο,σσσ.σσ	Ψ010	Bidder's Price: \$436.81	Bidder's Price: \$1,310.43
55.	Reynolds Median	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
	,			. ,	. ,		. ,	. ,		Bidder's Price: \$2,623.89	Bidder's Price: \$7,871.67
56.	Rim Rd	52	\$55.00	\$2,860.00	\$8,580.00	\$55.00	\$2,860.00	\$8,580.00	\$37.86	\$1,968.72	\$5,906.16
J0.	Killi Ku		Ψ55.00	Ψ2,000.00	ψ0,300.00	ψ33.00	Ψ2,000.00	ψ0,300.00	Ψ37.00	Bidder's Price: \$1,968.67	Bidder's Price: \$5,906.02
57.	Saipan Ledo	52	\$62.00	\$3,224.00	\$9,672.00	\$55.00	\$2,860.00	\$8,580.00	\$75.69	\$3,935.88	\$11,807.64
	Сапрат 2000			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,,,,,		,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		Bidder's Price: \$3,935.83	Bidder's Price: \$11,807.5
5 0	Con Ivon Blooks	52	\$27.00	\$4.404.00	64 242 00	\$55.00	¢2 960 00	¢0 500 00	\$50.48	\$2,624.96	\$7,874.88
58.	San Juan Placita	52	\$27.00	\$1,404.00	\$4,212.00	\$55.00	\$2,860.00	\$8,580.00	\$50.4 6	Bidder's Price: \$2,624.9	Bidder's Price: \$7,874.69
		50	004.00	04.040.00	*******	A== 00	***	40 500 00	AFO 40	\$2,624.96	\$7,874.88
59.	San Juan Rec Center	52	\$31.00	\$1,612.00	\$4,836.00	\$55.00	\$2,860.00	\$8,580.00	\$50.48	Bidder's Price: \$2,624.9	Bidder's Price: \$7,874.69
60.	Scenic Dr.	52	\$55.00	\$2,860.00	\$8,580.00	\$55.00	\$2,860.00	\$8,580.00	\$75.69	\$3,935.88	\$11,807.64
0 0.	Scenic Dr.	<u> </u>	Ψ 00.00	φ2,000.00	φο,3ου.υυ	φ55.00	φ ∠ ,000.00	φο,5ου.υυ	φ/ 3.03	Bidder's Price: \$3,935.83	Bidder's Price: \$11,807.5





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

	ppennig Date. April 2		Ace Go	vernment Serv	ices LLC		ASEO INC.			ler TM Industr Xceed Reso	
				El Paso, TX Bidder 1 of 6			El Paso, TX Bidder 2 of 6			El Paso, Bidder 3 d	
					Group 1: All	Year Sched	ule				
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
61.	Serenity Garden	52	\$13.00	\$676.00	\$2,028.00	\$55.00	\$2,860.00	\$8,580.00	\$8.40	\$436.80 Bidder's Price:	\$1,310.40
										\$436.81	Bidder's Price: \$1,310.43
62.	Seville	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	\$8.40	\$436.80	\$1,310.40
										Bidder's Price: \$436.81	Bidder's Price: \$1,310.43
	0. (1. 51.5	52	045.00	4700.00	40.040.00	A== 00	40,000,00	40.500.00	00.40	\$436.80	\$1,310.40
63.	South El Paso Sr. Ctr.	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	\$8.40	Bidder's Price: \$436.81	Bidder's Price: \$1,310.43
										\$1,968.20	\$5,904.60
64.	Tom Lea Lower	52	\$69.00	\$3,588.00	\$10,764.00	\$55.00	\$2,860.00	\$8,580.00	\$37.85	Bidder's Price: \$1,968.23	Bidder's Price: \$5,904.68
65.	Tom Lea Upper	52	\$61.00	\$3,172.00	\$9,516.00	\$55.00	\$2,860.00	\$8,580.00	\$50.47	\$2,624.44	\$7,873.32
	. o 200 Oppo			40,112.00	40,010.00		42,000.00	40,000.00		Bidder's Price: \$2,624.30	Bidder's Price: \$7,872.91
66.	Tula Irrobali	52	\$22.00	\$1,144.00	\$3,432.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
			,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	74,10=100		,,,,,,,,,,,	73,000.00		Bidder's Price: \$2,623.89	Bidder's Price: \$7,871.67
67.	Union Plaza	52	\$47.00	\$2,444.00	\$7,332.00	\$55.00	\$2,860.00	\$8,580.00	\$29.40	\$1,528.80	\$4,586.40
07.	Omon Flaza		ψ+7.00	Ψ2,444.00	Ψ1,332.00	Ψ55.00	Ψ2,000.00	ψ0,300.00	Ψ23.40	Bidder's Price: \$1,528.84	Bidder's Price: \$4,586.51
68.	Vista Del Valle	52	\$117.00	\$6,084.00	\$18,252.00	\$55.00	\$2,860.00	\$8,580.00	\$151.36	\$7,870.72	\$23,612.16
00.	vista Dei valle		ψ117.00	\$0,004.00	ψ10,232.00	ψ55.00	Ψ2,000.00	\$0,300.00	ψ131.30	Bidder's Price: \$7,870.79	Bidder's Price: \$23,612.37
69.	Washington	52	\$96.00	\$4,992.00	\$14,976.00	\$55.00	\$2,860.00	\$8,580.00	\$100.92	\$5,247.84	\$15,743.52
55.	**asimigton		Ψοσ.σσ	ψ - -,υυ2.υυ	\$17,010.00	Ψου.σσ	Ψ2,000.00	40,000.00	Ψ100.02	Bidder's Price: \$5,247.78	Bidder's Price: \$15,743.33
70.	WWII Veterans of Company E	52	\$96.00	\$4,992.00	\$14,976.00	\$55.00	\$2,860.00	\$8,580.00	\$100.92	\$5,247.84 Bidder's Price:	\$15,743.52
	Company E									\$5,247.78	Bidder's Price: \$15,743.33

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: __/s/___ DATE: _5/19/21____





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

<u> Biu C</u>	pening Date: April	28, 2021							Departif	ient. Streets	and Maintenance
			Ace Go	vernment Serv	ices LLC		ASEO INC.		Boro	ler TM Industr Xceed Reso	
			El Paso, TX Bidder 1 of 6 El Paso, TX Bidder 2 of 6						El Paso,	TX	
										Bidder 3 o	
					Group 1: All	Year Schedu					
		Estimated		Annual			Annual			Annual	
ITEM	Site	Weeks (A)	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount
		Weeks (A)	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC
71.		52								\$899.08	\$2,697.24
/ 1.	Arbor Green	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	\$17.29	Bidder's Price:	
										\$899.00	Bidder's Price: \$2,696.99
		50								\$2,024.88	\$6,074.64
72.	Aviators	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	\$38.94	Bidder's Price:	
										\$2,024.66	Bidder's Price: \$6,073.98
		52								\$4,047.16	\$12,141.48
73.	Brisa Del Este	52	\$32.00	\$1,664.00	\$4,992.00	\$55.00	\$2,860.00	\$8,580.00	\$77.83	Bidder's Price:	
										\$4,047.13	Bidder's Price: \$12,141.38
	Dumaina Magazzita									\$4,047.68	\$12,143.04
74.	Burning Mesquite Park	52	\$59.00	\$3,068.00	\$9,204.00	\$55.00	\$2,860.00	\$8,580.00	\$77.84	' '	ψ12,140.04
	Park									Bidder's Price: \$4,047.81	Bidder's Price: \$12,143.43
										\$1,348.36	\$4,045.08
75.	Cactus Point Park	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$25.93		\$4,045.06
			,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	•	Bidder's Price: \$1,348.26	Bidder's Price: \$4,044.78
											40.007.00
76.	Carlos Bombach	52	\$87.00	\$4,524.00	\$13,572.00	\$55.00	\$2,860.00	\$8,580.00	\$51.91	\$2,699.32	\$8,097.96
' 0.	Ourios Boilibacii		ψον.σσ	ψ4,024.00	ψ10,07 <u>2.00</u>	ψου.σσ	Ψ2,000.00	ψο,σσσ.σσ	ψο 1.0 1	Bidder's Price:	Bidder's Price: \$8,097.53
										\$2,699.18	
77.	Chester Jordan	52	\$72.00	\$3,744.00	\$11 222 00	\$55.00	\$2,860.00	¢0 500 00	\$77.83	\$4,047.16	\$12,141.48
′′′	Chester Jordan	"-	\$12.00	\$3,744.00	\$11,232.00	φ 55.00	\$2,000.00	\$8,580.00	φ <i>11</i> .03	Bidder's Price:	Bidder's Price: \$12,141.38
										\$4,047.13	
78.	Cielo Dorado Park	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$25.93	\$1,348.36	\$4,045.08
10.	Cielo Dolado Park		Ψ20.00	\$1,552.00	\$4,030.00	\$33.00	\$2,000.00	\$0,500.00	Ψ 2 3.93	Bidder's Price:	Bidder's Price: \$4,045.49
										\$1,348.50	+
79.	Coyote Cave Park	52	\$24.00	\$1,248.00	\$3,744.00	\$55.00	\$2,860.00	\$8,580.00	\$17.29	\$899.08	\$2,697.24
' 3.	Obyote Oave I alk	"-	Ψ24.00	\$1,240.00	ψ3,7 44.00	ψ55.00	Ψ2,000.00	\$0,500.00	Ψ17.23	Bidder's Price:	Bidder's Price: \$2,696.99
										\$899.00	2.440.01.100.42,000.00
	0 5 .	52	#00.00	64 500 00	04.000.00	AFF 00	40,000,00	#0 F00 00	400.00	\$1,996.28	\$5,988.84
80.	Coyote Park	52	\$30.00	\$1,560.00	\$4,680.00	\$55.00	\$2,860.00	\$8,580.00	\$38.39	Bidder's Price:	
										\$2,024.38	Bidder's Price: \$6,073.15





Project Name: Parks Litter Control

Solicitation #: 2021-1071

Bid (Opening Date: April 2	28, 2021							Departm	nent: Streets	and Maintenance
			Ace Go	vernment Servi	ices I I C		ASEO INC.		Bord	ler TM Industr	•
			ACE OU	verillient oervi	Ces LLO		ACLO IIIO.			Xceed Reso	urces
				El Paso, TX			El Paso, TX			El Paso,	
				Bidder 1 of 6			Bidder 2 of 6			Bidder 3 c	of 6
				·	Group 1: All	Year Schedu					1
ITEM	Site	Estimated	Weekly	Annual Amount	3-Year Amount	Weekly	Annual Amount	3-Year Amount	Weekly	Annual	3-Year Amount
I I I E IVI	Site	Weeks (A)	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC	Price (B)	Amount C=AXB	D=3XC
81.	Dawn View at Horizon	52	\$36.00	\$1,872.00	\$5,616.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92 Bidder's Price:	\$7,871.76
										\$2,623.89	Bidder's Price: \$7,871.67
82.	Desert Garden Park	52	\$38.00	\$1,976.00	\$5,928.00	\$55.00	\$2,860.00	\$8,580.00	\$25.21	\$1,310.92 Bidder's Price:	\$3,932.76 Bidder's Price: \$3,933.27
										\$1,311.09	Didder 3 i fice. \$0,300.27
83.	Desert Sands	52	¢20.00	¢4 040 00	¢2 420 00	¢55.00	\$2,960,00	¢0 500 00	¢54.00	\$2,698.80	\$8,096.40
03.	Desert Sands	<u> </u>	\$20.00	\$1,040.00	\$3,120.00	\$55.00	\$2,860.00	\$8,580.00	\$51.90	Bidder's Price: \$2,698.54	Bidder's Price: \$8,095.62
١		50								\$7,870.72	\$23,612.16
84.	Dick Schinaut	52	\$117.00	\$6,084.00	\$18,252.00	\$55.00	\$2,860.00	\$8,580.00	\$151.36	Bidder's Price: \$7,870.79	Bidder's Price: \$23,612.37
85.	Dreamland Park	52	\$43.00	\$2,236.00	\$6,708.00	\$55.00	\$2,860.00	\$8,580.00	\$37.85	\$1,968.20	\$5,904.60
	2.00			V =,======	40,100.00	, , , , , , , , , , , , , , , , , , , 	V 2,000.00	4 0,000.00	40 7100	Bidder's Price: \$1,968.23	Bidder's Price: \$5,904.68
86.	East Cave Park	52	\$59.00	\$3,068.00	\$9,204.00	\$55.00	\$2,860.00	\$8,580.00	\$75.69	\$3,935.88	\$11,807.64
				,	40,200	,,,,	V 2,000.00	,		Bidder's Price: \$3,935.83	Bidder's Price: \$11,807.50
87.	Eastside Regional	52	\$146.00	\$7,592.00	\$22,776.00	\$55.00	\$2,860.00	\$8,580.00	\$630.65	\$32,793.80	\$98,381.40
				VI,002.00	ψ==,:::0:00		V 2,000.00	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		Bidder's Price: \$32,793.57	Bidder's Price: \$98,380.70
88.	Eastside Sports	52	\$227.00	\$11,804.00	\$35,412.00	\$55.00	\$2,860.00	\$8,580.00	\$630.64	\$32,793.28	\$98,379.84
	Complex			411,001100	400 , 112100		+2 ,000.00	4 0,000.00		Bidder's Price: \$32,793.19	Bidder's Price: \$98,379.56
89.	Eddie "Hirby" Beard	52	\$44.00	\$2,288.00	\$6,864.00	\$55.00	\$2,860.00	\$8,580.00	\$75.69	\$3,935.88	\$11,807.64
	Park		4.7100	+ -,00.00	¥5,554100	703.00	72,000.00	45,550.00	7. 3.00	Bidder's Price: \$3,935.83	Bidder's Price: \$11,807.50
90.	Edgemere/Freeport	52	\$1F.00	\$790.00	\$2 240 00	¢EE OO	\$2 860 00	¢0 500 00	\$16.80	\$873.60	\$2,620.80
90.	Park Pond		\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	φισ.ου	Bidder's Price: \$873.62	Bidder's Price: \$2,620.86





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Bla	Opening Date: April 2	28, 2021							Departin	ient: Streets	and Maintenance
			Ace Go	vernment Serv	ices LLC		ASEO INC.		Boro	ler TM Industr Xceed Reso	•
				El Paso, TX			El Paso, TX	,		El Paso,	
				Bidder 1 of 6			Bidder 2 of 6			Bidder 3 o	
				Blader 1 of 0	Group 1: All	Year Sched				Bluder 5 C	71 0
				Annual			Annual			Annual	
ITEM	Site	Estimated Weeks (A)	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount
		weeks (A)	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC
91.		52								\$1,749.28	\$5,247.84
91.	Espanola	32	\$31.00	\$1,612.00	\$4,836.00	\$55.00	\$2,860.00	\$8,580.00	\$33.64	Bidder's Price:	
										\$1,749.18	Bidder's Price: \$5,247.55
										\$5,903.04	\$17,709.12
92.	Fostering Fun Linear	52	\$53.00	\$2,756.00	\$8,268.00	\$55.00	\$2,860.00	\$8,580.00	\$113.52	-	ψ17,7 00.12
										Bidder's Price: \$5.902.99	Bidder's Price: \$17,708.98
										, . ,	
93.	Frank T. "Francis"	52	\$33.00	\$1,716.00	\$5,148.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
93.	Hourigan		\$33.00	\$1,710.00	φ3, 140.00	φ55.00	\$2,000.00	\$6,560.00	φ30.40	Bidder's Price:	Bidder's Price: \$7,871.67
										\$2,623.89	Bluder's Frice. \$7,071.07
١		52								\$11,804.52	\$35,413.56
94.	Holly Springs	52	\$72.00	\$3,744.00	\$11,232.00	\$55.00	\$2,860.00	\$8,580.00	\$227.01	Bidder's Price:	
										\$11,804.47	Bidder's Price: \$35,413.42
										\$1,749.28	\$5,247.84
95.	Hueco Estates 1	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$33.64	Bidder's Price:	, , , , , , , , , , , , , , , , , , , ,
										\$1,749.26	Bidder's Price: \$5,247.78
										\$873.60	\$2,620.80
96.	Hueco Estates 2	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$16.80		Ψ2,020.00
								·		Bidder's Price: \$873.62	Bidder's Price: \$2,620.88
											¢2 622 26
97.	Hueco Mountain	52	\$2.00	\$104.00	\$312.00	\$55.00	\$2,860.00	\$8,580.00	\$16.81	\$874.12	\$2,622.36
• • •			7	, , , , , , , , , , , , , , , , , , , ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	******	Bidder's Price: \$874.06	Bidder's Price: \$2,622.18
											¢E 006 46
98.	Hunters Creek Park	52	\$33.00	\$1,716.00	\$5,148.00	\$55.00	\$2,860.00	\$8,580.00	\$37.86	\$1,968.72	\$5,906.16
00.	Transcio Grook Funk		400.00	V 1,1 10100	40,110100	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	4 2,000.00	40,000.00	401.100	Bidder's Price:	Bidder's Price: \$5,906.02
										\$1,968.67	******
99.	Indian Heights	52	\$13.00	\$676.00	\$2,028.00	\$55.00	\$2,860.00	\$8,580.00	\$16.81	\$874.12	\$2,622.36
55.	indian rieignis	- -	ψ10.00	ψο, σ.σ.	Ψ2,020.00	Ψ00.00	Ψ2,000.00	ψο,σσο.σσ	ψ10.01	Bidder's Price:	Bidder's Price: \$2,622.18
										\$874.06	·
400	Indian Bidge 40	52	¢22.00	\$1 144 00	\$2.422.00	\$55.00	\$2 950 00	¢9 590 00	¢16 00	\$873.60	\$2,620.80
100.	Indian Ridge 10	\ \frac{1}{2}	\$22.00	\$1,144.00	\$3,432.00	\$55.00	\$2,860.00	\$8,580.00	\$16.80	Bidder's Price:	Bidder's Price: \$2,620.86
	. The information cont									\$873.62	Σ.αασί 3 i ii.ce. φ2,020.00





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Bla C	pening Date: April	28, 2021							Departn	ient: Streets	and Maintenance
			Ace Go	vernment Serv	ices LLC		ASEO INC.		Boro	ler TM Industr	•
										Xceed Reso	
				El Paso, TX			El Paso, TX			El Paso,	
				Bidder 1 of 6	Group 1: All	Year Schedu	Bidder 2 of 6	<u>'</u>		Bidder 3 o	or 6
		Ι Ι		Annual	Group 1. All	Teal Scheut	Annual	I I		Annual	
ITEM	Site	Estimated	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount
		Weeks (A)	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC
404										\$873.60	\$2,620.80
101.	Indian Ridge 9	52	\$18.00	\$936.00	\$2,808.00	\$55.00	\$2,860.00	\$8,580.00	\$16.80		Ψ2,020.00
										Bidder's Price: \$873.62	Bidder's Price: \$2,620.86
										\$5,247.84	\$15,743.52
102.	John Lyons	52	\$80.00	\$4,160.00	\$12,480.00	\$55.00	\$2,860.00	\$8,580.00	\$100.92	' '	\$15,745.52
	•					-				Bidder's Price: \$5,247.78	Bidder's Price: \$15.743.33
										\$1,310.40	\$3,931.20
103.	Kip Hall Park	52	\$23.00	\$1,196.00	\$3,588.00	\$55.00	\$2,860.00	\$8,580.00	\$25.20	Bidder's Price:	
										\$1,310.43	Bidder's Price: \$3,931.29
										\$1,310.92	\$3,932.76
104.	La Puesta Del Sol	52	\$31.00	\$1,612.00	\$4,836.00	\$55.00	\$2,860.00	\$8,580.00	\$25.21	•	ψο,σοΣσ
										Bidder's Price: \$1,311.09	Bidder's Price: \$3,933.27
										\$1,749.28	\$5,247.84
105.	Loma Chica Park	52	\$20.00	\$1,040.00	\$3,120.00	\$55.00	\$2,860.00	\$8,580.00	\$33.64		ψ5,247.04
										Bidder's Price: \$1,749.18	Bidder's Price: \$5,247.55
										\$874.12	\$2,622.36
106.	Loma Linda	52	\$22.00	\$1,144.00	\$3,432.00	\$55.00	\$2,860.00	\$8,580.00	\$16.81		\$2,022.30
						-			•	Bidder's Price: \$874.06	Bidder's Price: \$2,622.18
											¢62.050.40
107.	Marty Robbins	52	\$139.00	\$7,228.00	\$21,684.00	\$55.00	\$2,860.00	\$8,580.00	\$403.58	\$20,986.16	\$62,958.48
	marty Robbino	-	V 100100	41,220.00	421,001100	400.00	V 2,000.00	45,555.55	V 100100	Bidder's Price:	Bidder's Price: \$62,957.82
										\$20,985.94	
108.	McCarthy	52	\$24.00	\$1,248.00	\$3,744.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
100.	Micoartify		Ψ24.00	ψ1,240.00	ψ5,7 44.00	ψ55.00	Ψ2,000.00	ψ0,500.00	ψ50.40	Bidder's Price:	Bidder's Price: \$7,871.32
										\$2,623.77	
109.	Mequite Hills 5	52	\$72.00	\$3,744.00	\$11,232.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
109.	wequite milis 5	32	\$12.00	\$5,744.00	\$11,232.00	φ55.00	\$2,000.00	\$6,560.00	\$30.40	Bidder's Price:	Bidder's Price: \$7,871.67
										\$2,623.89	,
1440	Minana Davi	52	¢07.00	64 004 60	AF 770 00	* FF 00	#0.000.00	#0 F00 00	675.00	\$3,935.88	\$11,807.64
110.	Miners Park	"-	\$37.00	\$1,924.00	\$5,772.00	\$55.00	\$2,860.00	\$8,580.00	\$75.69	Bidder's Price:	Biddor's Brice: \$44 907 50
										\$3,935.83	Bidder's Price: \$11,807.50





Project Name: Parks Litter Control

Solicitation #: 2021-1071
Department: Streets and Maintenance

Bid C	Opening Date: April :	28, 2021							Departm	ent: Streets	and Maintenance
			Ace Go	vernment Serv	ices I I C		ASEO INC.		Boro	ler TM Industr	•
			Ace Go		ices LLO					Xceed Reso	
				El Paso, TX			El Paso, TX			El Paso,	
				Bidder 1 of 6	0 4 . 4 . 1	V O . I I	Bidder 2 of 6			Bidder 3 c	of 6
				Annual	Group 1: All	Year Schedu	Annual			Annual	
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
111.	Montwood Heights	52	\$42.00	\$2,184.00	\$6,552.00	\$55.00	\$2,860.00	\$8,580.00	\$33.64	\$1,749.28 Bidder's Price:	\$5,247.84 Bidder's Price: \$5,247.55
										\$1,749.18	bluder 3 Frice. \$5,247.55
112.	Officer Adrian Arellano Park	52	\$72.00	\$3,744.00	\$11,232.00	\$55.00	\$2,860.00	\$8,580.00	\$75.69	\$3,935.88	\$11,807.64
	Alelialio Faik									Bidder's Price: \$3,935.83	Bidder's Price: \$11,807.50
113.	Palm Grove	52	\$41.00	\$2,132.00	\$6,396.00	\$55.00	\$2,860.00	\$8,580.00	\$37.85	\$1,968.20	\$5,904.60
			· 	. ,	. ,	· 	. ,	. ,	· 	Bidder's Price: \$1,968.23	Bidder's Price: \$5,904.68
114.	Paseo Del Sol	52	\$72.00	\$3,744.00	\$11,232.00	\$55.00	\$2,860.00	\$8,580.00	\$37.85	\$1,968.20	\$5,904.60
	1 4000 201 001		4.2.00	40 ,7 1 1100	VII,202.00		V 2,000.00	40,000.00	467166	Bidder's Price: \$1,968.23	Bidder's Price: \$5,904.68
115.	Pebble Hills	52	\$53.00	\$2,756.00	\$8,268.00	\$55.00	\$2,860.00	\$8,580.00	\$33.64	\$1,749.28	\$5,247.84
110.	T CODIC TIME	-	400.00	42,700.00	ψ0,200.00	400.00	Ψ2,000.00	40,000.00	400.04	Bidder's Price: \$1,749.18	Bidder's Price: \$5,247.55
116.	Pico Norte	52	\$96.00	\$4,992.00	\$14,976.00	\$55.00	\$2,860.00	\$8,580.00	\$75.69	\$3,935.88	\$11,807.64
110.	FICO NOILE	02	ψ30.00	ψ4,992.00	\$14,970.00	ψ33.00	\$2,000.00	ψ0,300.00	Ψ1 3.03	Bidder's Price: \$3,935.83	Bidder's Price: \$11,807.50
117.	Piedra Volcanica	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$25.20	\$1,310.40	\$3,931.20
	1 Icara Voicamea	-	V20.00	\$1,002.00	Ψ4,000.00	400.00	Ψ2,000.00	40,000.00	\$20.20	Bidder's Price: \$1,310.43	Bidder's Price: \$3,931.29
118.	Priceless Linear	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
110.	Triceless Linear		Ψ20.00	Ψ1,332.00	ψ+,030.00	Ψ33.00	Ψ2,000.00	ψ0,300.00	Ψ30.40	Bidder's Price: \$2,623.89	Bidder's Price: \$7,871.67
119.	Rainbow Vista Park	52	\$65.00	\$3,380.00	\$10,140.00	\$55.00	\$2,860.00	\$8,580.00	\$75.69	\$3,935.88	\$11,807.64
113.	Tullbow Vista Faik	J	Ψ00.00	40,000.00	\$10,140.00	Ψ00.00	Ψ2,000.00	¥0,000.00	Ψ10.00	Bidder's Price: \$3,935.83	Bidder's Price: \$11,807.50
120.	Ranchos Del Sol	52	\$162.00	\$8,424.00	\$25,272.00	\$55.00	\$2,860.00	\$8,580.00	\$126.15	\$6,559.80	\$19,679.40
	. tanonos boi ooi		Ţ.UZ.00	40, 12 1100	720,212.00	400.00	72,500.00	+5,530.00	Ţ0.10	Bidder's Price: \$6,559.72	Bidder's Price: \$19,679.17





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Bla	Opening Date: April	28, 2021									and Maintenance
			Ace Go	vernment Servi	ices LLC		ASEO INC.		Boro	ler TM Industr	· ·
										Xceed Reso	
				El Paso, TX			El Paso, TX			El Paso,	
				Bidder 1 of 6	Cuarra 4: All	Vacu Cabada	Bidder 2 of 6			Bidder 3 c	of 6
				Ammonal	Group 1: All	Year Schedu		1		A	
ITEM	Site	Estimated	Weekly	Annual Amount	3-Year Amount	Weekly	Annual Amount	3-Year Amount	Weekly	Annual Amount	3-Year Amount
I I I LIVI	Site	Weeks (A)	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC
			11100 (2)	0 7002	D OXIO	11100 (2)	0.7502	D OXE	11100 (2)	\$7,870.72	\$23,612.16
121.	Reese McCord	52	\$136.00	\$7,072.00	\$21,216.00	\$55.00	\$2,860.00	\$8,580.00	\$151.36	\$1,010.12	Ψ23,012.10
				, , , , , , , , , , , , , , , , , , , ,	, ,		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , , , , , , , , , , , , , , , ,		Bidder's Price: \$7,870.79	Bidder's Price: \$23,612.37
400	0-1-0	52	\$00.00	#4.000.00	£44.070.00	\$55.00	*** *** ***	\$0.500.00	6454.04	\$7,869.68	\$23,609.04
122.	Sal Beroterran	32	\$96.00	\$4,992.00	\$14,976.00	\$55.00	\$2,860.00	\$8,580.00	\$151.34	Bidder's Price: \$7,869.73	Bidder's Price: \$23,609.18
123.	Calvador Divos	52	¢440.00	¢7 749 00	¢22 244 00	¢== 00	¢2 960 00	¢0 500 00	¢400 02	\$5,247.84	\$15,743.52
123.	Sgt. Jesus Roberto		\$149.00	\$7,748.00	\$23,244.00	\$55.00	\$2,860.00	\$8,580.00	\$100.92	Bidder's Price: \$5,247.78	Bidder's Price: \$15,743.33
		50	#40.00	*** 40.4.00	\$0.550.00	\$55.00	*** **** ***	\$0.500.00	\$50.40	\$2,623.92	\$7,871.76
124.	Vasquez USMC	52	\$42.00	\$2,184.00	\$6,552.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	Bidder's Price: \$2,623.89	Bidder's Price: \$7,871.67
425	Cuaniah Caatla	52	¢54.00	#2.052.00	£7.050.00	¢55.00	ta aca aa	\$0.500.00	£27.00	\$1,968.72	\$5,906.16
125.	Spanish Castle	_	\$51.00	\$2,652.00	\$7,956.00	\$55.00	\$2,860.00	\$8,580.00	\$37.86	Bidder's Price: \$1,968.67	Bidder's Price: \$5,906.02
126.	Stanton Heights	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$25.21	\$1,310.92	\$3,932.76
120.	Stanton Heights	-	φ20.00	\$1,332.00	\$4,036.00	φ33.00 	\$2,000.00	\$6,560.00	φ23.21	Bidder's Price: \$1,311.09	Bidder's Price: \$3.933.27
127.	Starduster	52	\$39.00	\$2,028.00	\$6,084.00	\$55.00	\$2,860.00	\$8,580.00	\$37.86	\$1,968.72	\$5,906.16
127.	Starduster	<u> </u>	φ39.00	\$2,020.00	\$6,004.00	ψ35.00	\$2,000.00	\$0,500.00	φ37.00	Bidder's Price: \$1,968.67	Bidder's Price: \$5,906.02
128.	Ctone Book	52	\$42.00	£2.494.00	¢6 552 00	¢== 00	¢2 960 00	¢0 500 00	¢25.24	\$1,312.48	\$3,937.44
120.	Stone Rock	32	\$42.00	\$2,184.00	\$6,552.00	\$55.00	\$2,860.00	\$8,580.00	\$25.24	Bidder's Price: \$1,312.45	Bidder's Price: \$3,937.35
129.	Suanca Encentados	52	\$20.00	\$1,040,00	¢2 420 00	¢55.00	¢2 960 00	¢0 500 00	\$25.24	\$1,312.48	\$3,937.44
129.	Suenos Encantados	32	\$20.00	\$1,040.00	\$3,120.00	\$55.00	\$2,860.00	\$8,580.00	Φ 25.24	Bidder's Price: \$1,312.45	Bidder's Price: \$3,937.35
120	Cuffalls	52	¢40.00	\$000 00	\$2.064.00	¢== 00	¢2 960 00	¢9 590 00	¢46 04	\$874.12	\$2,622.36
130.	Suffolk	<u> </u>	\$19.00	\$988.00	\$2,964.00	\$55.00	\$2,860.00	\$8,580.00	\$16.81	Bidder's Price: \$874.06	Bidder's Price: \$2,622.18





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

ITEM	Site Sunny Brook	Estimated Weeks (A)	Washin	El Paso, TX Bidder 1 of 6	O 4- AU		El Paso, TX	(Xceed Reso	
			West-to-		O 4- All		Bidder 2 of 6			El Paso, TX Bidder 3 of 6	
			Mac lele		Group 1: All	Year Schedu					
	Sunny Brook		Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
131.	, ,	52	\$53.00	\$2,756.00	\$8,268.00	\$55.00	\$2,860.00	\$8,580.00	\$75.69	\$3,935.88 Bidder's Price: \$3,935.83	\$11,807.64 Bidder's Price: \$11,807.5
132. S	Sweet Dream Park	52	\$33.00	\$1,716.00	\$5,148.00	\$55.00	\$2,860.00	\$8,580.00	\$38.94	\$2,024.88	\$6,074.64
			-	. ,				,		Bidder's Price: \$2024.66	Bidder's Price: \$6073.98
133. T	Tierra Buena Park	52	\$80.00	\$4,160.00	\$12,480.00	\$55.00	\$2,860.00	\$8,580.00	\$67.28	\$3,498.56	\$10,495.68
				·				·		Bidder's Price: \$3498.52	Bidder's Price: \$10495.56
134.	Tierra Del Sol	52	\$60.00	\$3,120.00	\$9,360.00	\$55.00	\$2,860.00	\$8,580.00	\$75.69	\$3,935.88	\$11,807.64
			·	,	. ,	·		. ,	·	Bidder's Price: \$3935.83	Bidder's Price: \$11807.5
135. ·	Tierra Vista Park	52	\$28.00	\$1,456.00	\$4,368.00	\$55.00	\$2,860.00	\$8,580.00	\$37.86	\$1,968.72	\$5,906.16
			-	. ,		-	. ,	,		Bidder's Price: \$1968.67	Bidder's Price: \$5906.02
136.	Tim Foster Park	52	\$42.00	\$2,184.00	\$6,552.00	\$55.00	\$2,860.00	\$8,580.00	\$25.20	\$1,310.40	\$3,931.20
100.	Tim Fotor Funk		V.2.00	42 ,10 mee	40,002.00		+2 ,000.00	4 0,000.00		Bidder's Price: \$1310.43	Bidder's Price: \$3931.29
137.	Travis White	52	\$88.00	\$4,576.00	\$13,728.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
			-	. ,	. ,		,	. ,		Bidder's Price: \$2623.77	Bidder's Price: \$7871.32
138.	Tyrone	52	\$19.00	\$988.00	\$2,964.00	\$55.00	\$2,860.00	\$8,580.00	\$16.81	\$874.12	\$2,622.36
100.			4.0.00	V	4 2,0000		+ 2,000.00	, , , , , , , , , , , , , , , , , , ,		Bidder's Price: \$874.06	Bidder's Price: \$2622.18
139.	Ventanas Cove	52	\$38.00	\$1,976.00	\$5,928.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
100.	Tontana Oove		Ψ00.00	Ψ1,070.00	\$5,525.00	400.00	\$2,000.00	Ψ0,000.00	400.40	Bidder's Price: \$2623.89	Bidder's Price: \$7871.67
140.	Ventanas Destiny	52	\$72.00	\$3,744.00	\$11,232.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92 Bidder's Price: \$2623.89	\$7,871.76 Bidder's Price: \$7871.67

APPROVED BY: __/s/__ DATE: _5/19/21____ NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.



CITY OF EL PASO BID TABULATION FORM



Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Bid (Opening Date: April 2	28, 2021							Departn	<u>nent: Streets</u>	and Maintenance
			Ace Go	vernment Serv	ices LLC		ASEO INC.		Boro	der TM Industr	*
										Xceed Reso	
				El Paso, TX Bidder 1 of 6			El Paso, TX Bidder 2 of 6			El Paso, Bidder 3 d	
				Bluder 1 01 6	Group 1: All	Year Schedu				Bluder 3 (л о
		1		Annual	Group 1. All	Tour Conou	Annual			Annual	
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC
141.	Ventanas Spring	52	\$72.00	\$3,744.00	\$11,232.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
	- communicación de la comm	-	4.1.00	40,11100	V 11,202.00		V =,000.00	40,000.00		Bidder's Price: \$2,623.89	Bidder's Price: \$7,871.67
142.	Ventanas Willow	52	\$72.00	\$3,744.00	\$11,232.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
				,	. ,		,			Bidder's Price: \$2,623.89	Bidder's Price: \$7,871.67
143.	Vivid Dreams	52	\$31.00	\$1,612.00	\$4,836.00	\$55.00	\$2,860.00	\$8,580.00	\$25.24	\$1,312.48	\$3,937.44
143.	VIVIO Dreams	- J2	\$31.00	\$1,612.00	\$4,030.00	φ 55.00	\$2,060.00	\$6,560.00	\$25.24	Bidder's Price: \$1,312.45	Bidder's Price: \$3.,937.35
144.	Walter Clarke	52	\$72.00	\$3,744.00	\$11,232.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
				, , , , , , ,	, ,		, , ,	, , , , , , , , ,		Bidder's Price: \$2,623.77	Bidder's Price: \$7,871.32
145.	West Texas Estates	52	\$20.00	\$1,040.00	\$3,120.00	\$55.00	\$2,860.00	\$8,580.00	\$16.81	\$874.12	\$2,622.36
										Bidder's Price: \$874.06	Bidder's Price: \$2,622.18
146.	Whispering Rock	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	\$25.24	\$1,312.48	\$3,937.44
140.	Park		φ13.00 	\$700.00	\$2,340.00	ψ55.00	\$2,000.00	\$0,500.00	\$25.24	Bidder's Price: \$1,312.45	Bidder's Price: \$3,937.35
147.	Winners	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$25.24	\$1,312.48	\$3,937.44
					-			·		Bidder's Price: \$1,312.45	Bidder's Price: \$3,937.35
148.	Ylairam Ruby Morgan	52	\$27.00	\$1,404.00	\$4,212.00	\$55.00	\$2,860.00	\$8,580.00	\$37.86	\$1,968.72	\$5,906.16
140.	Park		Ψ21.00	\$1,404.00	ψ4,212.00	Ψ33.00	Ψ2,000.00	φυ,300.00	Ψ37.00	Bidder's Price: \$1,968.67	Bidder's Price: \$5,906.02
149.	Argal Park	52	\$146.00	\$7,592.00	\$22,776.00	\$55.00	\$2,860.00	\$8,580.00	\$259.43	\$13,490.36	\$40,471.08
	9		,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,,-	, , , , , , , , , , , , , , , , , , ,	,_,	, -,	,	Bidder's Price: \$13,490.18	Bidder's Price: \$40,470.53
150.	Blackie Chesher	52	\$182.00	\$9,464.00	\$28,392.00	\$55.00	\$2,860.00	\$8,580.00	\$26,982.80	\$80,948.40	
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		¥	, , , , , , , , , ,	,==,====	+ 3	,_,	, -,	,	Bidder's Price: \$26,983.04	Bidder's Price: \$80,949.11

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: __/s/___ DATE: _5/19/21____





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071

Department: Streets and Maintenance

<u> Dia C</u>	Opening Date: April	28, 2021									and Maintenance
			Ace Go	vernment Serv	ices LLC		ASEO INC.		Boro	der TM Industr Xceed Reso	
				El Paso, TX			El Paso, TX	,		El Paso,	
				Bidder 1 of 6			Bidder 2 of 6			Bidder 3 o	
					Group 1: All	Year Schedu	ule				
		Estimated		Annual			Annual			Annual	
ITEM	Site	Weeks (A)	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount
		Weeks (A)	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC
151.	0	52	#00.00	¢4 570 00	£42 720 00	¢55.00	ta aca aa	¢0 500 00	6446.76	\$6,071.52	\$18,214.56
131.	Capistrano	32	\$88.00	\$4,576.00	\$13,728.00	\$55.00	\$2,860.00	\$8,580.00	\$116.76	Bidder's Price: \$6,071.51	Bidder's Price: \$18.214.53
										\$1,348.36	\$4,045.08
152.	Caribe	52	\$22.00	\$1,144.00	\$3,432.00	\$55.00	\$2,860.00	\$8,580.00	\$25.93	Bidder's Price: \$1,348.50	Bidder's Price: \$4,045.49
450	O. d O	52	\$50.00	#2.000.00	\$0.004.00	¢55.00	#0.000.00	#0 F00 00	675.00	\$3,935.36	\$11,806.08
153.	Cedar Grove Pond	52	\$59.00	\$3,068.00	\$9,204.00	\$55.00	\$2,860.00	\$8,580.00	\$75.68	Bidder's Price: \$3,935.33	Bidder's Price: \$11,805.99
4-4		50	^-	******					40= 04	\$1,310.92	\$3,932.76
154.	E.L. Williams	52	\$74.00	\$3,848.00	\$11,544.00	\$55.00	\$2,860.00	\$8,580.00	\$25.21	Bidder's Price: \$1,311.09	Bidder's Price: \$3,933.27
4	0 1/1 5 1	50	* 40.00	4000.00	***	A == 00	40.000.00	40.500.00	405.00	\$1,311.96	\$3,935.88
155.	Gran Vista Park	52	\$18.00	\$936.00	\$2,808.00	\$55.00	\$2,860.00	\$8,580.00	\$25.23	Bidder's Price: \$1,312.15	Bidder's Price: \$3,936.46
450		52	***	04.040.00	00.400.00	A == 00	40.000.00	40.500.00	00.40	\$436.80	\$1,310.40
156.	Green Lilac	52	\$20.00	\$1,040.00	\$3,120.00	\$55.00	\$2,860.00	\$8,580.00	\$8.40	Bidder's Price: \$437.03	Bidder's Price: \$1,311.09
457	IP II. M. II.	52	***	*******	*44.070.00	A == 00	40.000.00	40.500.00	050.40	\$2,623.92	\$7,871.76
157.	Hidden Valley	32	\$96.00	\$4,992.00	\$14,976.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	Bidder's Price: \$2,623.89	Bidder's Price: \$7,871.67
450		52	\$04.00	#4 000 00	#0.070.00	# 55.00	*** *** ***	¢0 500 00	654.00	\$2,698.80	\$8,096.40
158.	Independence Trail	32	\$21.00	\$1,092.00	\$3,276.00	\$55.00	\$2,860.00	\$8,580.00	\$51.90	Bidder's Price: \$2,698.54	Bidder's Price: \$8,095.62
450	I D Ch	52	£400.00	#C 550 00	\$40.050.00	655.00	to 000 00	#0 F00 00	¢007.04	\$11,804.52	\$35,413.56
159.	J. P. Shawver		\$126.00	\$6,552.00	\$19,656.00	\$55.00	\$2,860.00	\$8,580.00	\$227.01	Bidder's Price: \$11,804.47	Bidder's Price: \$35,413.42
460	lama a taurr	52	¢44.00	#2 200 CC	#C 0C4 0C	¢55.00	#0.000.00	#0 F00 00	\$1.968.72	\$5,906.16	
160.	Jamestown		\$44.00	\$2,288.00	\$6,864.00	\$55.00	\$2,860.00	\$8,580.00	\$37.86	Bidder's Price: \$1,968.67	Bidder's Price: \$5,906.02

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: __/s/___ DATE: _5/19/21____





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071 Department: Streets and Maintenance

Dia C	pening Date: April	20, 202 1	Ace Go	overnment Serv	ices LLC		ASEO INC.		•	der TM Industr Xceed Reso	•
				El Paso, TX			El Paso, TX			El Paso,	TX
				Bidder 1 of 6	Group 1: All	Year Sched	Bidder 2 of 6			Bidder 3 o	OT 6
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
161.	Lancaster	52	\$55.00	\$2,860.00	\$8,580.00	\$55.00	\$2,860.00	\$8,580.00	\$37.85	\$1,968.20 Bidder's Price: \$1,968.23	\$5,904.60 Bidder's Price: \$5,904.68
162.	Lomaland	52	\$117.00	\$6,084.00	\$18,252.00	\$55.00	\$2,860.00	\$8,580.00	\$100.92	\$5,247.84 Bidder's Price: \$5,247.78	\$15,743.52 Bidder's Price: \$15.743.33
163.	Marian Manor	52	\$72.00	\$3,744.00	\$11,232.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92 Bidder's Price: \$2,623.77	\$7,871.76 Bidder's Price: \$7,871.32
164.	Mesa Drain	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$25.20	\$1,310.40 Bidder's Price: \$1,310.43	\$3,931.20 Bidder's Price: \$3,931.29
165.	Officer David Ortiz Park	52	\$117.00	\$6,084.00	\$18,252.00	\$55.00	\$2,860.00	\$8,580.00	\$151.36	\$7,870.72 Bidder's Price: \$7,870.66	\$23,612.16 Bidder's Price: \$23,611.97
166.	Pavo Real	52	\$117.00	\$6,084.00	\$18,252.00	\$55.00	\$2,860.00	\$8,580.00	\$151.36	\$7,870.72 Bidder's Price:	\$23,612.16 Bidder's Price: \$23,612.37
167.	Pecan Grove 1	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	\$16.80	\$7,870.79 \$873.60 Bidder's Price:	\$2,620.80 Bidder's Price: \$2,620.86
168.	Pecan Grove 2	52	\$18.00	\$936.00	\$2,808.00	\$55.00	\$2,860.00	\$8,580.00	\$16.80	\$873.62 \$873.60 Bidder's Price: \$873.62	\$2,620.80 Bidder's Price: \$2,620.86
169.	Playa Drain Trail	52	\$47.00	\$2,444.00	\$7,332.00	\$55.00	\$2,860.00	\$8,580.00	\$252.26	\$13,117.52 Bidder's Price: \$13,117.43	\$39,352.56 Bidder's Price: \$39,352.28
170.	Pueblo Viejo	52	\$88.00	\$4,576.00	\$13,728.00	\$55.00	\$2,860.00	\$8,580.00	\$227.01	\$11,804.52 Bidder's Price: \$11,804.59	\$35,413.56 Bidder's Price: \$35,413.78





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071 Department: Streets and Maintenance

	ppening Date: April	20, 202 1									and Maintenance
			Ace Go	vernment Serv	ices LLC		ASEO INC.		Boro	ler TM Industr Xceed Reso	
				El Boso TV			El Boso TV	,			
				El Paso, TX Bidder 1 of 6			El Paso, TX Bidder 2 of 6			El Paso, Bidder 3 d	
				Bludel 1 01 0	Group 1: All	Year Schedu				Diddei 3 (л о
		F. C. C. C.		Annual		1001 0011000	Annual			Annual	
ITEM	Site	Estimated Weeks (A)	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount
		Weeks (A)	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC
										\$1,968.72	\$5,906.16
171.	Riverside	52	\$47.00	\$2,444.00	\$7,332.00	\$55.00	\$2,860.00	\$8,580.00	\$37.86	Bidder's Price:	, , , , , , ,
										\$1,968.67	Bidder's Price: \$5,906.02
										\$874.12	\$2,622.36
172.	SPC Adrian Garcia	52	\$13.00	\$676.00	\$2,028.00	\$55.00	\$2,860.00	\$8,580.00	\$16.81	Bidder's Price:	V 2,022.00
										\$874.06	Bidder's Price: \$2,622.18
		52							_	\$2,623.92	\$7,871.76
173.	Stiles	02	\$64.00	\$3,328.00	\$9,984.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	Bidder's Price:	
										\$2,623.77	Bidder's Price: \$7,871.32
		52	***				******		4440 =0	\$5,903.04	\$17,709.12
174.	Thomas Manor		\$88.00	\$4,576.00	\$13,728.00	\$55.00	\$2,860.00	\$8,580.00	\$113.52	Bidder's Price:	Bidder's Price: \$17,708.98
										\$5,902.99	
175.	Ysleta	52	\$71.00	\$3,692.00	\$11,076.00	\$55.00	\$2,860.00	\$8,580.00	\$50.47	\$2,624.44	\$7,873.32
173.	i Sicia		Ψ71.00	\$3,092.00	\$11,070.00	ψ33.00	Ψ2,000.00	\$6,500.00	φ30.47	Bidder's Price: \$2,624.30	Bidder's Price: \$7,872.91
										\$873.60	\$2,620.80
176.	Ysleta Pedestrian	52	\$22.00	\$1,144.00	\$3,432.00	\$55.00	\$2,860.00	\$8,580.00	\$16.80	1	\$2,620.60
									-	Bidder's Price: \$873.62	Bidder's Price: \$2,620.86
										\$5,903.04	\$17,709.12
177.	Yucca + Crime	52	\$104.00	\$5,408.00	\$16,224.00	\$55.00	\$2,860.00	\$8,580.00	\$113.52		\$17,709.12
	Victim's Memorial									Bidder's Price: \$5,902.99	Bidder's Price: \$17,08.98
										\$4,047.16	\$12,141.48
178.	Arlington	52	\$80.00	\$4,160.00	\$12,480.00	\$55.00	\$2,860.00	\$8,580.00	\$77.83	' '	φ12,141.40
										Bidder's Price: \$4,047.13	Bidder's Price: \$12,141.38
										\$5,396.04	\$16,188.12
179.	Barron	52	\$96.00	\$4,992.00	\$14,976.00	\$55.00	\$2,860.00	\$8,580.00	\$103.77		Ψ10,100.12
										Bidder's Price: \$5,396.17	Bidder's Price: \$16,188.51
											\$12,143.04
180.	Chuck Heinrich	52	\$96.00	\$4,992.00	\$14,976.00	\$55.00	\$2,860.00	\$8,580.00	\$77.84	·	
										\$4,047.81	Bidder's Price: \$12,143.43
180.	Chuck Heinrich	52	\$96.00	\$4,992.00	\$14,976.00	\$55.00	\$2,860.00	\$8,580.00	\$77.84	\$4,047.68 Bidder's Price:	\$12,·





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

	ppennig Date. April 2		Ace Go	vernment Serv	ices LLC		ASEO INC			ler TM Industr Xceed Reso	•
				El Paso, TX Bidder 1 of 6			El Paso, T) Bidder 2 of 6			El Paso, Bidder 3 d	
					Group 1: All	Year Schedu	ıle				
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
181.	Colonia Verde	52	\$34.00	\$1,768.00	\$5,304.00	\$55.00	\$2,860.00	\$8,580.00	\$38.93	\$2,024.36 Bidder's Price:	\$6,073.08 Bidder's Price: \$6,073.15
182.	Dolphin	52	\$39.00	\$2,028.00	\$6,084.00	\$55.00	\$2,860.00	\$8,580.00	\$51.89	\$2,024.38 \$2,698.28 Bidder's Price: \$2,698.04	\$8,094.84 Bidder's Price: \$8,094.11
183.	Franklin	52	\$88.00	\$4,576.00	\$13,728.00	\$55.00	\$2,860.00	\$8,580.00	\$37.86	\$1,968.72 Bidder's Price: \$1,968.67	\$5,906.16 Bidder's Price: \$5,906.02
184.	Futureland Park	52	\$18.00	\$936.00	\$2,808.00	\$55.00	\$2,860.00	\$8,580.00	\$33.64	\$1,749.28 Bidder's Price: \$1,749.18	\$5,247.84 Bidder's Price: \$5,247.55
185.	Grandview	52	\$117.00	\$6,084.00	\$18,252.00	\$55.00	\$2,860.00	\$8,580.00	\$151.36	\$7,870.72 Bidder's Price: \$7,870.66	\$23,612.16 Bidder's Price: \$23,611.97
186.	Honey Mesquite Park	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92 Bidder's Price:	\$7,871.76 Bidder's Price: \$7,871.32
187.	Joey Barraza and Vino Memorial Park	52	\$203.00	\$10,556.00	\$31,668.00	\$55.00	\$2,860.00	\$8,580.00	\$302.68	\$2,623.77 \$15,739.36 Bidder's Price:	\$47,218.08 Bidder's Price: \$47,217.89
188.	Johnson Basin	52	\$66.00	\$3,432.00	\$10,296.00	\$55.00	\$2,860.00	\$8,580.00	\$75.69	\$15,739.30 \$3,935.88 Bidder's Price:	\$11,807.64 Bidder's Price: \$11,807.50
189.	Jorge Almada	52	\$48.00	\$2,496.00	\$7,488.00	\$55.00	\$2,860.00	\$8,580.00	\$33.64	\$3,935.83 \$1,749.28 Bidder's Price: \$1,749.26	\$5,247.84 Bidder's Price: \$5,247.78
190.	Jorge Montalvo	52	\$45.00	\$2,340.00	\$7,020.00	\$55.00	\$2,860.00	\$8,580.00	\$25.21	\$1,310.92 Bidder's Price: \$1,311.09	\$3,932.76 Bidder's Price: \$3,933.27





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Bid C	Opening Date: April 2	28, 2021							Departn	<u> </u>	and Maintenance
			Ace Go	vernment Serv	ices LLC		ASEO INC.		Boro	ler TM Industr Xceed Reso	•
				El Paso, TX Bidder 1 of 6			El Paso, TX Bidder 2 of 6			El Paso, Bidder 3 d	TX
					Group 1: All	Year Schedu	ıle				
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
191.	Logan	52	\$39.00	\$2,028.00	\$6,084.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92 Bidder's Price: \$2,623.77	\$7,871.76 Bidder's Price: \$7,871.32
192.	Louisiana Dam	52	\$21.00	\$1,092.00	\$3,276.00	\$55.00	\$2,860.00	\$8,580.00	\$25.21	\$1,310.92 Bidder's Price:	\$3,932.76 Bidder's Price: \$3,933.27
193.	Lt. Col. Robert "Bob" Chisolm Park	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$75.69	\$1,311.09 \$3,935.88 Bidder's Price:	\$11,807.64 Bidder's Price: \$11,807.50
194.	McKelligon Canyon	52	\$134.00	\$6,968.00	\$20,904.00	\$55.00	\$2,860.00	\$8,580.00	\$75.68	\$3,935.83 \$3,935.36 Bidder's Price:	\$11,806.08 Bidder's Price: \$11,806.18
195.	Mesquite Bush Park	52	\$20.00	\$1,040.00	\$3,120.00	\$55.00	\$2,860.00	\$8,580.00	\$16.80	\$3,935.39 \$873.60 Bidder's Price:	\$2,620.80
196.	Mesquite Hills Park	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$25.20	\$873.62 \$1,310.40 Bidder's Price:	\$3,931.20 Bidder's Price: \$3,931.29
197.	Mesquite Trail 1 LT	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	\$25.24	\$1,310.43 \$1,312.48 Bidder's Price:	\$3,937.44 Bidder's Price: \$3,937.35
198.	Mesquite Trail 2 LT	52	\$30.00	\$1,560.00	\$4,680.00	\$55.00	\$2,860.00	\$8,580.00	\$25.20	\$1,312.45 \$1,310.40 Bidder's Price: \$1,310.43	\$3,931.20 Bidder's Price: \$3,931.29
199.	Milagro	52	\$29.00	\$1,508.00	\$4,524.00	\$55.00	\$2,860.00	\$8,580.00	\$25.21	\$1,310.92 Bidder's Price: \$1,311.09	\$3,932.76 Bidder's Price: \$3,933.27
200.	Mountain View	52	\$42.00	\$2,184.00	\$6,552.00	\$55.00	\$2,860.00	\$8,580.00	\$75.69	\$3,935.88 Bidder's Price: \$3,935.83	\$11,807.64 Bidder's Price: \$11,807.50

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: __/s/___ DATE: _5/19/21_____





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Bid C	pening Date: April	28, 2021							Departn	nent: Streets	and Maintenance
			Ace Go	overnment Serv	ices LLC		ASEO INC.		Boro	ler TM Industr	
			7.00 0.		.000 ==0					Xceed Reso	
				El Paso, TX			El Paso, TX			El Paso,	
				Bidder 1 of 6			Bidder 2 of 6			Bidder 3 d	of 6
					Group 1: All	Year Sched					
		Estimated		Annual			Annual			Annual	
ITEM	Site	Weeks (A)	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount
		1100110 (14)	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC
						_				\$15,739.36	\$47,218.08
201.	Nations Tobin	52	\$164.00	\$8,528.00	\$25,584.00	\$55.00	\$2,860.00	\$8,580.00	\$302.68	Bidder's Price:	
										\$15,739.46	Bidder's Price: \$47,218.37
	Nolan Richardson,									\$873.60	\$2,620.80
202.	including	52	\$32.00	\$1,664.00	\$4,992.00	\$55.00	\$2,860.00	\$8,580.00	\$16.80		\$2,620.00
	Phase II		¥	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	40,00000	*******	Bidder's Price:	Bidder's Price: \$2,620.86
	1 11400 11									\$873.62	. ,
	No di Book di Bod		¢04.00	64 640 00	£4.000.00	* 55.00	#0.000.00	\$0.500.00	¢07.00	\$1,968.72	\$5,906.16
203.	North Desert Park	52	\$31.00	\$1,612.00	\$4,836.00	\$55.00	\$2,860.00	\$8,580.00	\$37.86	Bidder's Price:	
										\$1,968.67	Bidder's Price: \$5,906.02
										\$2,623.92	\$7,871.76
204.	North Skies	52	\$43.00	\$2,236.00	\$6,708.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46		Ψ1,011.110
										Bidder's Price: \$2,623.89	Bidder's Price: \$7,871.67
											4-4
205.	Northern Lights	52	\$21.00	\$1,092.00	\$3,276.00	\$55.00	\$2,860.00	\$8,580.00	\$33.64	\$1,749.28	\$5,247.84
203.	North	32	Ψ21.00	\$1,092.00	\$3,276.00	φ33.00	\$2,000.00	\$6,560.00	φ33.0 4	Bidder's Price:	Didded Dries 65 047 70
										\$1,749.26	Bidder's Price: \$5,247.78
	Northern Lightsd									\$1,312.48	\$3,937.44
206.	South	52	\$18.00	\$936.00	\$2,808.00	\$55.00	\$2,860.00	\$8,580.00	\$25.24	Bidder's Price:	
	Journ									\$1,312.45	Bidder's Price: \$3,937.35
										¢0.000.00	¢7 074 7C
207.	Pollard Pond	52	\$21.00	\$1,092.00	\$3,276.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
	i onara i ona		Ψ=σσ	V 1,002.00	40,270,00	400.00	42,000.00	40,000.00	400.10	Bidder's Price:	Bidder's Price: \$7,871.67
										\$2,623.89	Bidder S Frice. \$7,071.07
										\$655.72	\$1,967.16
208.	Redstone Village	52	\$30.00	\$1,560.00	\$4,680.00	\$55.00	\$2,860.00	\$8,580.00	\$12.61	Bidder's Price:	
										\$655.55	Bidder's Price: \$1,966.64
										\$1,968.20	\$5,904.60
209.	Sandstone Ranch	52	\$65.00	\$3,380.00	\$10,140.00	\$55.00	\$2,860.00	\$8,580.00	\$37.85	φ1,300.20	φ5,504.00
			7.5.55		, ,	755.53	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,,,,,,,,,,,,,	4000	Bidder's Price:	Bidder's Price: \$5,904.68
							1			\$1,968.23	. ,
	Sandstone Ranch	52	401.00	00.000.00	00.001.00	A== 00	00.000.00	40.500.00	40= 0=	\$1,968.20	\$5,904.60
210.	Estates	J2	\$64.00	\$3,328.00	\$9,984.00	\$55.00	\$2,860.00	\$8,580.00	\$37.85	Bidder's Price:	
										\$1,968.23	Bidder's Price: \$5,904.68





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Dia C	pening Date: April	20, 2021	Ace Go	overnment Serv	ices I I C		ASEO INC.			der TM Industr	
			A00 00	El Paso, TX			El Paso, TX			Xceed Reso El Paso,	
				Bidder 1 of 6			Bidder 2 of 6			Bidder 3 o	
					Group 1: All	Year Schedu	ıle				
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
211.	Skyline	52	\$69.00	\$3,588.00	\$10,764.00	\$55.00	\$2,860.00	\$8,580.00	\$100.90	\$5,246.80 Bidder's Price:	\$15,740.40 Bidder's Price: \$15,740.31
212.	Student Memorial	52	\$24.00	\$1,248.00	\$3,744.00	\$55.00	\$2,860.00	\$8,580.00	\$25.21	\$5,246.77 \$1,310.92	\$3,932.76
			,	, ,,	40, 000		, -,	, , , , , , , , ,	,	Bidder's Price: \$1,311.09	Bidder's Price: \$3,933.27
213.	Sue Young	52	\$139.00	\$7,228.00	\$21,684.00	\$55.00	\$2,860.00	\$8,580.00	\$151.36	\$7,870.72 Bidder's Price: \$7,870.79	\$23,612.16 Bidder's Price: \$23,612.37
214.	Summerlin	52	\$20.00	\$1,040.00	\$3,120.00	\$55.00	\$2,860.00	\$8,580.00	\$25.21	\$1,310.92	\$3,932.76
214.	Summerm	32	\$20.00	\$1,040.00	\$3,120.00	ψ55.00	\$2,000.00	\$0,500.00	⊅ 25.21	Bidder's Price: \$1,311.09	Bidder's Price: \$3,933.27
215.	Summit Fillmore	52	\$18.00	\$936.00	\$2,808.00	\$55.00	\$2,860.00	\$8,580.00	\$16.81	\$874.12	\$2,622.36
			Ψ10.00	4000.00	\$2,000.00	400.00	\$2,000.00	40,000.00	410.01	Bidder's Price: \$874.06	Bidder's Price: \$2,622.18
216.	Sunrise	52	\$43.00	\$2,236.00	\$6,708.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
			———	4 =,=00:00	4 0,1 0 0.00		V 2,000.00	+ 0,000.00		Bidder's Price: \$2,623.77	Bidder's Price: \$7,871.32
217.	Todd Ware	52	\$62.00	\$3,224.00	\$9,672.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
			,	, , , , ,	, , , , , , , , ,		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , , , , , , , , , , , , , , , ,		Bidder's Price: \$2,623.77	Bidder's Price: \$7,871.32
218.	Veteran's	52	\$139.00	\$7,228.00	\$21,684.00	\$55.00	\$2,860.00	\$8,580.00	\$403.56	\$20,985.12	\$62,955.36
			· 	. ,	. ,		,	,		Bidder's Price: \$20,985.06	Bidder's Price: \$62,955.17
219.	Wellington Chew	52	\$31.00	\$1,612.00	\$4,836.00	\$55.00	\$2,860.00	\$8,580.00	\$33.64	\$1,749.28	\$5,247.84
				, ,,,	, ,	• • • • • • • • • • • • • • • • • • • •	, , , , , , , , ,	, , , , , , , ,	,	Bidder's Price: \$1,749.18	Bidder's Price: \$5,247.55
220.	White Mesquite	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	.00 \$25.24 \$1,312	\$1,312.48	\$3,937.44
	-		•		tion only and doc	-			•	Bidder's Price: \$1,312.45	Bidder's Price: \$3,937.35

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: __/s/___ DATE: _5/19/21____





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Біа С	Opening Date: April 2	28, 2021							Departin	ient: Streets	and Maintenance
			Ace Go	vernment Serv	ices LLC		ASEO INC.		Border TM Industries, Inc. dba Xceed Resources		
			El Paso, TX			El Paso, TX			El Paso, TX		
				Bidder 1 of 6			Bidder 2 of 6			Bidder 3 c	
					Group 1: All	Year Schedu	ile				
	011	Estimated		Annual			Annual			Annual	
ITEM	Site	Weeks (A)	Weekly	Amount C=AXB	3-Year Amount	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount D=3XC
			Price (B)	C-AAB	D=3XC	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	
221.	Wilderness Museum	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$16.80	\$873.60	\$2,620.80
	wilderliess Museum		φ26.00	\$1,352.00	\$4,056.00	φ 55 .00	\$2,000.00	\$6,560.00	φ10.00	Bidder's Price:	Bidder's Price: \$2,620.86
										\$873.62	
222	Ambar Cun	52	¢22.00	64 444 00	¢2 422 00		¢0 500 00	¢25.02	\$1,348.36	\$4,045.08	
222.	Amber Sun	02	\$22.00	\$1,144.00	\$3,432.00	\$55.00	\$2,860.00 \$8,580.00	\$8,580.00	\$25.93	Bidder's Price:	Bidder's Price: \$4,045.49
										\$1,348.50	Biddor 5 1 1100. \$4,040.40
	A . (6)	50	#00.00	*** ***	*** • • • • • • • • • • • • • • • • • •	#55.00	#0.000.00	#0.500.00	6455.00	\$8,094.32	\$24,282.96
223.	Artcraft	52	\$39.00	\$2,028.00	\$6,084.00	\$55.00	\$2,860.00	\$8,580.00	\$155.66	Bidder's Price:	
										\$8,094.11	Bidder's Price: \$24,282.32
										\$899.08	\$2,697.24
224.	Autumn Sage Park	52	\$21.00	\$1,092.00	\$3,276.00	\$55.00	\$2,860.00	\$8,580.00	\$17.29		, ,,,,
										Bidder's Price: \$899.00	Bidder's Price: \$2,696.99
										\$1,348.36	\$4,045.08
225.	Bartlett	52	\$50.00	\$2,600.00	\$7,800.00	\$55.00	\$2,860.00	\$8,580.00	\$25.93	\$1,340.30	\$4,045.06
				. ,			. ,	. ,	·	Bidder's Price: \$1,348.26	Bidder's Price: \$4,044.78
											44.4-4.4
226.	Borderland	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$38.93	\$2,024.36	\$6,073.08
1220.	Dorderialia	52	Ψ20.00	ψ1,002.00	ψ4,000.00	Ψ00.00	Ψ2,000.00	ψο,σσσ.σσ	ψ00.50	Bidder's Price:	Bidder's Price: \$6,073.15
										\$2,024.38	2.000.01.00.70,0.0.0
227	Duadan Abaud	52	00.00	64.400.00	¢40,400,00	¢55.00	¢0.000.00	¢0 500 00	6446.75	\$6,071.00	\$18,213.00
227.	Braden Aboud	52	\$80.00	\$4,160.00	\$12,480.00	\$55.00	\$2,860.00	\$8,580.00	\$116.75	Bidder's Price:	Biddede Brises \$40,040,00
										\$6,070.96	Bidder's Price: \$18,212.88
000	0:	52	***	£4.400.00	*** *** ***	#55.00	#0.000.00	#0.500.00	654.00	\$2,698.28	\$8,094.84
228.	Cimarron Canyon	02	\$23.00	\$1,196.00	\$3,588.00	\$55.00	\$2,860.00	\$8,580.00	\$51.89	Bidder's Price:	Bidder's Price: \$8,094.11
										\$2,698.04	Bidder 3 i fice. \$0,034.11
		5 2	***		4-440-00		******		40-00	\$1,348.36	\$4,045.08
229.	Cimarron Cove Park	52	\$33.00	\$1,716.00	\$5,148.00	\$55.00	\$2,860.00	\$8,580.00	\$25.93	Bidder's Price:	
										\$1,348.26	Bidder's Price: \$4,044.78
										\$1,798.68	\$5,396.04
230.	Cimarron Sage # 2	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$34.59	Bidder's Price:	
										\$1,798.69	Bidder's Price: \$5,396.07





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Bla C	Opening Date: April 2	28, 2021							Departm	ient: Streets	and Maintenance
			Ace Go	vernment Serv	ices LLC		ASEO INC.		Bord	ler TM Industr Xceed Reso	
			El Paso, TX			El Paso, TX			El Paso, TX		
				Bidder 1 of 6			Bidder 2 of 6			Bidder 3 o	
				Biddoi i di d	Group 1: All	Year Schedu				Diado. C	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		F. C. C. L.		Annual			Annual			Annual	
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC
231.	Cimarron Unit 1	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	\$25.93	\$1,348.36 Bidder's Price: \$1,348.26	\$4,045.08 Bidder's Price: \$4,044.78
232.	Coach Jack D. Quarles	52	\$31.00	\$1,612.00	\$4,836.00	\$55.00	\$2,860.00	\$8,580.00	\$51.89	\$2,698.28 Bidder's Price: \$2,698.09	\$8,094.84 Bidder's Price: \$8,094.26
233.	Desert Vista	52	\$21.00	\$1,092.00	\$3,276.00	\$55.00	\$2,860.00	\$8,580.00	\$25.21	\$1,310.92	\$3,932.76
	Doort Viola		V =•	V 1,002.00	40,210.00		+2 ,000.00	4 0,000.00	420.2 ·	Bidder's Price: \$1,311.09	Bidder's Price: \$3,933.27
		52								\$899.08	\$2,697.24
234.	Eagle Vista	52	\$24.00	\$1,248.00	\$3,744.00	\$55.00	\$2,860.00	\$8,580.00	\$17.29	Bidder's Price: \$898.84	Bidder's Price: \$2,696.52
235.	Ellis Lateral LT	52	\$31.00	\$1,612.00	\$4,836.00	\$55.00	\$2,860.00	\$8,580.00	\$100.89	\$5,246.28	\$15,738.84
				, ,,	, , ,		, , ,	, -,		Bidder's Price: \$5,246.49	Bidder's Price: \$15,739.46
236.	Enchanted Hills Park	52	\$33.00	\$1,716.00	\$5,148.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
	#3									Bidder's Price: \$2,623.89	Bidder's Price: \$7,871.67
237.	Esmeralda	52	\$9.00	\$468.00	\$1,404.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92 Bidder's Price:	\$7,871.76
										\$2,623.77	Bidder's Price: \$7,871.67
238.	Francisco Delgado	52	\$55.00	\$2,860.00	\$8,580.00	\$55.00	\$2,860.00	\$8,580.00	\$52.69	\$2,739.88	\$8,219.64
200.	Transisco Beigado		Ψ00.00	Ψ2,000.00	ψο,σσσ.σσ	Ψ00.00	Ψ2,000.00	ψ0,000.00	Ψ02.03	Bidder's Price: \$2,739.93	Bidder's Price: \$8,219.78
239.	Franklin Hills # 8	52	\$21.00	\$1,092.00	\$3,276.00	\$55.00	\$2,860.00	\$8,580.00	\$25.24	\$1,312.48	\$3,937.44
209.	Trankini Tinis # 0		Ψ21.00	Ψ1,002.00	Ψ0,210.00	Ψ55.00	Ψ2,000.00	Ψ0,000.00	Ψ 4 0. 4 4	Bidder's Price: \$1,312.45	Bidder's Price: \$3,937.35
240.	Galatzan Park	52	\$139.00	\$7,228.00	\$21,684.00	\$55.00	\$2,860.00	\$8,580.00	\$151.36	\$7,870.72 Bidder's Price:	\$23,612.16
										\$7,870.79	Bidder's Price: \$23,612.37





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

<u> Bia C</u>	pening Date: April	20, 2021							Departii	ieni. Sireeis	and Maintenance
			Ace Go	vernment Serv	ices LLC		ASEO INC.		Boro	ler TM Industr Xceed Reso	•
				El Paso, TX		El Paso, TX			El Paso, TX		
				Bidder 1 of 6			Bidder 2 of 6			Bidder 3 c	
					Group 1: All	Year Schedu	ule	-			
ITEM	Site	Estimated Weeks (A)	Weekly	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
241.	H. T. Ponsford	52	Price (B) \$64.00	\$3,328.00	\$9,984.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
										Bidder's Price: \$2,623.89	Bidder's Price: \$7,871.67
242.	High Desert	52	\$8.00	\$416.00	\$1,248.00	\$55.00	\$2,860.00	\$8,580.00	\$33.64	\$1,749.28	\$5,247.84
								·		Bidder's Price: \$1,749.18	Bidder's Price: \$5,247.55
243.	Inca Dove	52	\$22.00	\$1,144.00	\$3,432.00	\$55.00	\$2,860.00	\$8,580.00	\$16.81	\$874.12	\$2,622.36
								·		Bidder's Price: \$874.06	Bidder's Price: \$2,622.18
244.	lmuin I I amblea	52	\$96.00	\$4,992.00	\$14,976.00	\$55.00	\$2,860.00	\$8,580.00	\$113.52	\$5,903.04	\$17,709.12
244.	Irwin J Lambka		430.00	\$4,552.00	\$14,976.00	\$55.00	\$2,000.00	\$6,560.00	\$113.5Z	Bidder's Price: \$5,902.99	Bidder's Price: \$17,708.98
245.	James Schwitters	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	\$16.80	\$873.60	\$2,620.80
	Family Park			***************************************	7 =,0 1010		, , , , , , , , , , , , , , , , , , ,	, , , , , , , , , , , , , , , , , , , ,		Bidder's Price: \$873.62	Bidder's Price: \$2,620.86
246.	King River	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	\$75.69	\$3,935.88	\$11,807.64
240.			Ψ10.00	4700.00	\$2,040.00		Ψ2,000.00	40,000.00	Ψ7 0.00	Bidder's Price: \$3,935.83	Bidder's Price: \$11,807.50
247.	Linda Daw Hudson	52	\$42.00	\$2,184.00	\$6,552.00	\$55.00	\$2,860.00	\$8,580.00	\$25.20	\$1,310.40	\$3,931.20
			,	, ,	, , , , , , ,	•	, ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		Bidder's Price: \$1,310.43	Bidder's Price: \$3.931.29
248.	Little River	52	\$23.00	\$1,196.00	\$3,588.00	\$55.00	\$2,860.00	\$8,580.00	\$16.81	\$874.12	\$2,622.36
				, ,	, , , , , , , , , , , , , , , , , , , ,		, ,	, , , , , , , , ,		Bidder's Price: \$874.06	Bidder's Price: \$2,622.18
249.	Lomas Del Sol #4	52	\$19.00	\$988.00	\$2,964.00	\$55.00	\$2,860.00	\$8,580.00	\$8.40	\$436.80	\$1,310.40
			· 		. ,			, ,	· 	Bidder's Price: \$436.81	Bidder's Price: \$1,310.43
250.	Lost Dog Trail	52	\$13.00	\$676.00	\$2,028.00	\$55.00	\$2,860.00	\$8,580.00	\$8.40	\$436.80	\$1,310.40
			•			-	, ,	. ,	·	Bidder's Price: \$436.81	Bidder's Price: \$1,310.43





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Бій С	pening Date: April	20, 2021						1			and Maintenance
			Ace Go	vernment Serv	ices LLC		ASEO INC.		Border TM Industries, Inc. dba Xceed Resources		
				El Paso, TX		El Paso, TX			El Paso, TX		
				Bidder 1 of 6			Bidder 2 of 6			Bidder 3 c	
					Group 1: All	Year Schedu	ule				
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
251.	Mary Frances Keisling Park	52	\$120.00	\$6,240.00	\$18,720.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92 Bidder's Price:	\$7,871.76
										\$2,623.77	Bidder's Price: \$7,871.32
252.	Mesa Vista	52	\$20.00	\$1,040.00	\$3,120.00	\$55.00	\$2,860.00	\$8,580.00	\$16.81	\$874.12	\$2,622.36
										Bidder's Price: \$874.06	Bidder's Price: \$2,622.18
253.	Montoya Heights	52	\$48.00	\$2,496.00	\$7,488.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
										Bidder's Price: \$2,623.77	Bidder's Price: \$7,871.32
254.	Ojo De Agua	52	\$20.00	\$1,040.00	\$3,120.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
				, ,	. ,		,	,		Bidder's Price: \$2,623.77	Bidder's Price: \$7,871.32
255.	Pacific	52	\$22.00	\$1,144.00	\$3,432.00	\$55.00	\$2,860.00	\$8,580.00	\$37.86	\$1,968.72	\$5,906.16
			-	,	. ,	•	,		-	Bidder's Price: \$1,968.67	Bidder's Price: \$5,906.02
256.	Palo Verde	52	\$18.00	\$936.00	\$2,808.00	\$55.00	\$2,860.00	\$8,580.00	\$25.21	\$1,310.92	\$3,932.76
					. ,	-	,	,		Bidder's Price: \$1,311.09	Bidder's Price: \$3,933.27
257.	Park Hills	52	\$34.00	\$1,768.00	\$5,304.00	\$55.00	\$2,860.00	\$8,580.00	\$25.21	\$1,310.92	\$3,932.76
				,	. ,	-	,	,		Bidder's Price: \$1,311.09	Bidder's Price: \$3,933.27
258.	Paul Harvey	52	\$79.00	\$4,108.00	\$12,324.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$2,623.92	\$7,871.76
				, ,	. ,		,	,	· 	Bidder's Price: \$2,623.77	Bidder's Price: \$7,871.32
259.	Promontory Area	52	\$13.00	\$676.00	\$2,028.00	\$55.00	\$2,860.00	\$8,580.00	\$33.64	\$1,749.28	\$5,247.84
	•			·	. ,	•	,	,	· 	Bidder's Price: \$1,749.18	Bidder's Price: \$5,247.55
260.	Rio Grande River	52	\$112.00	\$5,824.00	\$17,472.00	\$55.00	\$2,860.00	\$8,580.00	\$100.90	\$5,246.80	\$15,740.40
	Trail					•			•	Bidder's Price: \$5,246.77	Bidder's Price: \$15,740.31





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071 Department: Streets and Maintenance

	perming Date. April 2	·	Ace Go	overnment Serv	ices LLC		ASEO INC.		-	ler TM Industr Xceed Reso		
				El Paso, TX			El Paso, Tک			El Paso, TX		
				Bidder 1 of 6	Group 1: All	Year Schedu	Bidder 2 of 6			Bidder 3 o	of 6	
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	
261.	River Park West 1	52	\$20.00	\$1,040.00	\$3,120.00	\$55.00	\$2,860.00	\$8,580.00	\$25.23	\$1,311.96 Bidder's Price:	\$3,935.88 Bidder's Price: \$3,936.46	
262.	Sereno Park	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	\$1,312.15 \$2,623.92 Bidder's Price:	\$7,871.76 Bidder's Price: \$7,871.67	
263.	Sereno Trail	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$33.64	\$2,623.89 \$1,749.28 Bidder's Price:	\$5,247.84 Bidder's Price: \$5,247.78	
264.	Snow Heights	52	\$18.00	\$936.00	\$2,808.00	\$55.00	\$2,860.00	\$8,580.00	\$16.81	\$1,749.26 \$874.12 Bidder's Price:	\$2,622.36 Bidder's Price: \$2,622.18	
265.	South Dakota	52	\$31.00	\$1,612.00	\$4,836.00	\$55.00	\$2,860.00	\$8,580.00	\$25.21	\$874.06 \$1,310.92 Bidder's Price:	\$3,932.76 Bidder's Price: \$3,933.27	
266.	Sunset Terrace LT	52	\$29.00	\$1,508.00	\$4,524.00	\$55.00	\$2,860.00	\$8,580.00	\$16.81	\$1,311.09 \$874.12 Bidder's Price:	\$2,622.36 Bidder's Price: \$2,622.18	
267.	Sunset View	52	\$21.00	\$1,092.00	\$3,276.00	\$55.00	\$2,860.00	\$8,580.00	\$16.81	\$874.06 \$874.12 Bidder's Price: \$874.06	\$2,622.36 Bidder's Price: \$2,622.18	
268.	Thorn	52	\$31.00	\$1,612.00	\$4,836.00	\$55.00	\$2,860.00	\$8,580.00	\$37.85	\$1,968.20 Bidder's Price: \$1,968.23	\$5,904.60 Bidder's Price: \$5,904.68	
269.	West Green	52	\$32.00	\$1,664.00	\$4,992.00	\$55.00	\$2,860.00	\$8,580.00	\$25.21	\$1,310.92 Bidder's Price: \$1,311.09	\$3,932.76 Bidder's Price: \$3,933.27	
270.	Westside Community	52	\$106.00	\$5,512.00	\$16,536.00	\$55.00	\$2,860.00	\$8,580.00	\$403.56	\$20,985.12 Bidder's Price: \$20,985.06	\$62,955.36 Bidder's Price: \$62,955.17	





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

	ppening Date: April /	20, 202 1							•	der TM Industr	ies. Inc. dba	
			Ace Go	overnment Serv	ices LLC		ASEO INC.		Xceed Resources			
				El Paso, TX						El Paso, TX		
				Bidder 1 of 6	Group 1: All	Year Schedu	Bidder 2 of 6			Bidder 3 o	of 6	
				Annual	Group 1. All	Teal Scheut	Annual	1		Annual		
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	
271.	Westside Sports Complex	52	\$192.00	\$9,984.00	\$29,952.00	\$55.00	\$2,860.00	\$8,580.00	\$403.56	\$20,985.12 Bidder's Price:	\$62,955.36 Bidder's Price: \$62,955.17	
272.	Westside SPSPL/ Locomotive Side	52	\$37.00	\$1,924.00	\$5,772.00	\$55.00	\$2,860.00	\$8,580.00	\$50.11	\$20,985.06 \$2,605.72	\$7,817.16	
	Locomotive Side									Bidder's Price: \$2,605.73 \$2,623.92	Bidder's Price: \$7,817.19 \$7,871.76	
273.	White Spur	52	\$49.00	\$2,548.00	\$7,644.00	\$55.00	\$2,860.00	\$8,580.00	\$50.46	Bidder's Price: \$2,623.77	\$7,071.70 Bidder's Price: \$7,871.32	
274.	Willow River	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$17.15	\$891.80 Bidder's Price:	\$2,675.40 Bidder's Price: \$2,674.90	
275.	Promontory at Montecillo (Montecillo Unit 4A)	52	\$19.00	\$988.00	\$2,964.00	\$55.00	\$2,860.00	\$8,580.00	\$34.68	\$891.63 \$1,803.36	\$5,410.08	
276.	Cimarron #1 Replant A - Pocket Park (Open Space Area)	52	\$19.00	\$988.00	\$2,964.00	\$55.00	\$2,860.00	\$8,580.00	\$34.76	\$1,807.52	\$5,422.56	
277.	Cimarron Sage #2 - Pocket Park	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$34.76	\$1,807.52	\$5,422.56	
278.	Enchanted Hills Trail (Enchanted Hills #1 Subd.)	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$34.76	\$1,807.52	\$5,422.56	
279.	Enchanted Hills Trail (Enchanted Hills #2 Subd.)	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$52.02	\$2,705.04	\$8,115.12	
280.	Rio Valley Central Park (Rio Valley Rep. A Subd.)	52	\$59.00	\$3,068.00	\$9,204.00	\$55.00	\$2,860.00	\$8,580.00	\$78.02	\$4,057.04	\$12,171.12	





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071

Bid (Opening Date: April 2	28, 2021							Departn	nent: Streets	and Maintenance
			Ace Go	overnment Serv	ices LLC		ASEO INC		Bord	der TM Industr Xceed Reso	urces
				El Paso, TX			El Paso, TX			El Paso,	
				Bidder 1 of 6	Group 1: All	Year Sched	Bidder 2 of 6	<u> </u>		Bidder 3 o	f 6
				Annual	Group 1: All	Tear Scheu	Annual			Annual	
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC
281.	Rio Valley North Exercise Trail (Rio Valley Rep. A Subd.)	52	\$37.00	\$1,924.00	\$5,772.00	\$55.00	\$2,860.00	\$8,580.00	\$52.02	\$2,705.04	\$8,115.12
282.	Rio Valley North Park Trail (Rio Valley Rep. A Subd.)	52	\$26.00	\$1,352.00	\$4,056.00	\$55.00	\$2,860.00	\$8,580.00	\$34.76	\$1,807.52	\$5,422.56
283.	Rio Valley South Park Trail (Rio Valley Rep. A Subd.)	52	\$21.00	\$1,092.00 Bidder's Price: \$1,113.00	\$3,276.00 Bidder's Price: \$3,339.00	\$55.00	\$2,860.00	\$8,580.00	\$34.76	\$1,807.52	\$5,422.56
284.	Rio Valley Speranza Trail (Rio Valley Rep. A Subd.)	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	\$9.76	\$507.52	\$1,522.56
285.	Cimarron Park	52	\$55.00	\$2,860.00	\$8,580.00	\$55.00	\$2,860.00	\$8,580.00	\$80.19	\$4,169.88	\$12,509.64
286.	Indian Heights	52	\$15.00	\$780.00	\$2,340.00	\$55.00	\$2,860.00	\$8,580.00	\$34.66	\$1,802.32	\$5,406.96
287.	Mesquite Hill Hike and Bike Trail	52	\$29.00	\$1,508.00	\$4,524.00	\$55.00	\$2,860.00	\$8,580.00	\$80.24	\$4,172.48	\$12,517.44
288.	Mesquite Trail 3LT	52	\$39.00	\$2,028.00	\$6,084.00	\$55.00	\$2,860.00	\$8,580.00	\$50.43	\$2,622.36	\$7,867.08
289.	River Bend Trail	52	\$37.00	\$1,924.00	\$5,772.00	\$55.00	\$2,860.00	\$8,580.00	\$52.02	\$2,705.04	\$8,115.12
290.	San Jacinto	52	\$92.00	\$4,784.00	\$14,352.00	\$55.00	\$2,860.00	\$8,580.00	\$104.02	\$5,409.04	\$16,227.12
	Sum Total (Items 1-290)			\$767,052.00 Bidder's Price: \$767.073.00	\$2,301,156.00 Bidder's Price: \$2,301,219.00		\$829,400.00	\$2,488,200.00		\$836,301.96 Bidder's Price: \$1.048.198.73	\$2,508,905.88 Bidder's Price: \$3,144,596.19

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: __/s/___ DATE: _5/19/21_____





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

<u> Diu (</u>	Dening Date: April 2	28, 2021							Departin	ient: Streets	and Maintenance
			Ace Go	vernment Serv	ices LLC		ASEO INC.		Boro	der TM Industri Xceed Resou	•
				El Paso, TX Bidder 1 of 6			El Paso, TX Bidder 2 of 6			El Paso, 1 Bidder 3 of	ΓX
				Bluder 1 01 6	Group 2: Sea	sonal Sched	ule			Bluder 3 Or	0
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
1.	Marty Robbins Spray Park May 1 - October 1	22	\$146.00	\$3,212.00	\$9,636.00	\$55.00	\$1,210.00	\$3,630.00	\$345.24	\$7,595.28	\$22,785.84
2.	Salvador Rivas Spray Park May 1 - October 1	22	\$42.00	\$924.00	\$2,772.00	\$55.00	\$1,210.00	\$3,630.00	\$690.48	\$15,190.56	\$45,571.68
3.	Hidden Valley Spray Park May 1 - October 1	22	\$146.00	\$3,212.00	\$9,636.00	\$55.00	\$1,210.00	\$3,630.00	\$345.24	\$7,595.28	\$22,785.84
4.	Pavo Real Spray Park May 1 - October 1	22	\$146.00	\$3,212.00	\$9,636.00	\$55.00	\$1,210.00	\$3,630.00	\$690.48	\$15,190.56	\$45,571.68
5.	Grandview Pool (Memorial Day - Labor Day)	15	\$52.00	\$780.00	\$2,340.00	\$55.00	\$825.00	\$2,475.00	\$123.30	\$1,849.50	\$5,548.50
6.	Grandview Spray Park May 1 - October 1	22	\$146.00	\$3,212.00	\$9,636.00	\$55.00	\$1,210.00	\$3,630.00	\$345.24	\$7,595.28	\$22,785.84
7.	Nations Tobin Pool (Memorial Day - Labor Day)	15	\$52.00	\$780.00	\$2,340.00	\$55.00	\$825.00	\$2,475.00	\$246.60	\$3,699.00	\$11,097.00
8.	Sue Young Spray Park May 1 - October 1	22	\$146.00	\$3,212.00	\$9,636.00	\$55.00	\$1,210.00	\$3,630.00	\$690.48	\$15,190.56	\$45,571.68
9.	Braden Aboud Spray Park May 1 - October 1	22	\$146.00	\$3,212.00	\$9,636.00	\$55.00	\$1,210.00	\$3,630.00	\$345.24	\$7,595.28	\$22,785.84





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071 Department: Streets and Maintenance

		Ace Government Services LLC			ASEO INC.			Border TM Industries, Inc. dba Xceed Resources		
		El Paso, TX			El Paso, TX			El Paso, TX		
		Bidder 1 of 6			Bidder 2 of 6			Bidder 3 of 6		
				Group 2: Sea	sonal Sched					•
	Estimated		Annual			Annual			Annual	
Site		Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount
	Weeks (A)	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC
Nestside Community										
Spray Park	22	\$146.00	\$3,212.00	\$9,636.00	\$55.00	\$1,210.00	\$3,630.00	\$830.48	\$18,270.56	\$54,811.68
May 1 - October 1				·						
•										
Hawkins Elementary		¢24.00	¢775.00	¢0.225.00	¢55.00	¢4 275 00	64 405 00	£40.22	64 000 00	£2.000.00
Jun-Aug	25	\$31.00	\$775.00	\$2,325.00	\$55.UU	\$1,375.00	\$4,125.00	\$49.32	\$1,233.00	\$3,699.00
Camp Cohen Water										
Park May 1 -	22	\$356.00	\$7,832.00	\$23,496.00	\$55.00	\$1,210.00	\$3,630.00	\$728.07	\$16,017.54	\$48,052.62
October 1										
Chapoteo Water Park		£440 00	\$2.256.00	¢0.769.00	¢55.00	\$4 240 00	¢2 620 00	\$264.07	\$0,000,54	\$24,028.62
May 1 - October 1	22	\$140.00	\$3, 256.00	\$9,766.UU	\$55.00	\$1,210.00	\$3,630.00	\$304.07	\$6,009.54	\$24,U20.02
•										
Park May 1 -	22	\$129.00	\$2,838.00	\$8,514.00	\$55.00	\$1,210.00	\$3,630.00	\$364.07	\$8,009.54	\$24,028.62
October 1										
Ossis Water Bark										
	22	\$129.00	\$2,838.00	\$8,514.00	\$55.00	\$1,210.00	\$3,630.00	\$546.07	\$12,013.54	\$36,040.62
May 1 - October 1				·						
			\$3,700.00	\$11.100.00						
	25	\$148.00	· ·		\$55.00	\$1.375.00	\$4.125.00	\$17.32	\$433.00	\$1,299.00
Jun-Aug	23	,			,	, , , , , , , , , , , ,	, ,	,	,	, ,
				.,						
	T						I			
Sum Total (Items 1	₋₁₆₎		\$46,207,00	\$138,621,00		\$18 920 00	\$56.760.00		\$145 488 02	\$436,464.06
Cam rotal (itoliis i	. ,		7 10,201.00	Ţ 100,0 <u>2</u> 1.00		ψ10,920.00	φου, <i>ι</i> ου.υυ		ψ 145,400.UZ	Ψ430,404.00
	Spray Park May 1 - October 1 Hawkins Elementary Jun-Aug Camp Cohen Water Park May 1 - October 1 Chapoteo Water Park May 1 - October 1 Lost Kingdom Water Park May 1 - October 1 Oasis Water Park May 1 - October 1 Roger Brown Field Jun-Aug	Vestside Community Spray Park May 1 - October 1 Hawkins Elementary Jun-Aug Camp Cohen Water Park May 1 - October 1 Chapoteo Water Park May 1 - October 1 Lost Kingdom Water Park May 1 - October 1 Oasis Water Park May 1 - October 1 Oasis Water Park May 1 - October 1 Agent Park May 1 - October 1 Oasis Water Park May 1 - October 1 Roger Brown Field	Vestside Community Spray Park May 1 - October 1 Hawkins Elementary Jun-Aug Camp Cohen Water Park May 1 - October 1 Chapoteo Water Park May 1 - October 1 Lost Kingdom Water Park May 1 - October 1 Cost Kingdom Water Park May 1 - October 1 Cost Water Park May 1 - October 1	Site Estimated Weekly Price (B) C=AXB	Site Estimated Weekly Annual Amount C=AXB 3-Year Amount D=3XC	Site Estimated Weekly Annual Annual	Site Estimated Weeks (A) Weekly Price (B) Annual Amount C=AXB Site Estimated Weeks (A) Weekly Price (B) Annual Amount C=AXB Site Site Weeks (A) Weekly Price (B) Site Community Spray Park May 1 - October 1 22 \$146.00 \$3,212.00 \$9,636.00 \$55.00 \$1,210.00	Site Estimated Weekly Annual Annual	Site Estimated Weeks (A) Weekly Price (B) Annual Amount C=AXB 3-Year Amount D=3XC Weekly Price (B) Spray Park May 1 - October 1 22 \$146.00 \$775.00 \$2,325.00 \$55.00 \$1,210.00 \$3,630.00 \$830.48	Site Estimated Weekly Annual Annual





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071 Department: Streets and Maintenance

Bid Opening Bate. April 20, 2021 Begantinent: Otreets and Maintenan													
			Ace Go	vernment Serv	ices LLC		ASEO INC.		Xceed Resources				
				El Paso, TX			El Paso, TX	,	El Paso, TX				
				Bidder 1 of 6		Bidder 2 of 6				Bidder 3 of 6			
				Bluder 1 01 0	Group 3: Ho	liday Schedu			Biddel 0 01 0				
				Croup o. mo	mady Concad	Annual		Annual					
ITEM	Site	Estimated	Weekly	Annual Amount	Weekly	Amount	3-Year Amount	Weekly	Annual	3-Year Amount			
· · · _ · · ·	Site	Weeks (A)	Price (B)	C=AXB	3-Year Amount D=3XC	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC		
			1 1100 (2)	0 75.5	D OXO	11.00 (2)	0 700	5 0/10	11100 (2)	0 7002			
١		_	****	\$227.00 \$009.00 \$2.724.00 \$2.75.00 \$4.400.00 \$2.200.00						44 500 00	040 500 00		
1.	Eastwood Park	4	\$227.00	\$908.00	\$2,724.00	\$275.00	\$1,100.00	\$3,300.00	\$1,130.00	\$4,520.00	\$13,560.00		
2.	Memorial Park	4	\$227.00	\$908.00	\$2,724.00	\$275.00	\$1,100.00	\$3,300.00	\$1,130.00	\$4,520.00	\$13,560.00		
		-		·	' '	•	' '	. ,	. ,		. ,		
3.	Veterans Park	4	\$227.00	\$908.00	\$2,724.00	\$275.00	\$1,100.00	\$3,300.00	\$1,130.00	\$4,520.00	\$13,560.00		
4.	Nations Tobin Park		\$66.00	\$264.00	\$792.00	\$275.00	\$1,100.00	\$3,300.00	\$1,130.00	\$4,520.00	\$13,560.00		
		4	•	·		•	' '	. ,	. ,		. ,		
_ ا	Dundan Abassal Daula		¢75.00	#200.00	00.000	¢275.00	£4.400.00	£2 200 00	£4.420.00	64 500 00	£42 ECO 00		
5.	Braden Aboud Park	4	\$75.00	\$300.00	\$900.00	\$275.00	\$1,100.00	\$3,300.00	\$1,130.00	\$4,520.00	\$13,560.00		
6.	Hidden Valley	4	\$64.00	\$256.00	\$768.00	\$275.00	\$1,100.00	\$3,300.00	\$1,130.00	\$4,520.00	\$13,560.00		
_					• • • • • • • • • • • • • • • • • • •	***		•• ••• •	44 400 55	• • • • • •			
7.	Pavo Real	4	\$106.00	\$424.00	\$1,272.00	\$275.00	\$1,100.00	\$3,300.00	\$1,130.00	\$4,520.00	\$13,560.00		





Project Name: Parks Litter Control

Solicitation #: 2021-1071 Bid Opening Date: April 28, 2021 **Department: Streets and Maintenance**

	pperming Date: April 2	,	Ace Go	vernment Servi	ices LLC		ASEO INC.		Border TM Industries, Inc. dba Xceed Resources			
				El Paso, TX Bidder 1 of 6		El Paso, TX Bidder 2 of 6			El Paso, TX Bidder 3 of 6			
					Group 3: Ho	liday Schedu	ıle					
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Annual Weekly Amount 3-Year Amount Price (B) C=AXB D=3XC		Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC		
8.	Sue Young	4	\$117.00	\$468.00	\$1,404.00	\$275.00	\$1,100.00	\$3,300.00	\$1,130.00	\$4,520.00	\$13,560.00	
9.	Westside Community	4	\$100.00	\$400.00	\$1,200.00	\$275.00	\$1,100.00	\$3,300.00	\$1,130.00	\$4,520.00	\$13,560.00	
10.	Salvador Rivas	4	\$106.00	\$424.00	\$1,272.00	\$275.00	\$1,100.00	\$3,300.00	\$1,130.00	\$4,520.00	\$13,560.00	
11.	Lionel Forti	4	\$117.00	\$468.00	\$1,404.00	\$275.00	\$1,100.00	\$3,300.00	\$1,130.00	\$4,520.00	\$13,560.00	
12.	Grandview	4	\$106.00 \$424.00 \$1,272.00 \$275.00 \$1,100.00 \$3,300.00 \$1,130.00 \$4,520.00 \$1								\$13,560.00	
	Sum Total (Items 1	-12)		\$6,152.00	\$18,456.00		\$13,200.00	\$39,600.00		\$54,240.00	\$162,720.00	





Project Name: Parks Litter Control

Solicitation #: 2021-1071

Bid Opening Date: April 28, 2021

Department: Streets and Maintenance

Did Opening Date. April 20, 2021			Department. Otreets and maintenance
	Ace Government Services LLC	ASEO INC.	Border TM Industries, Inc. dba Xceed Resources
	El Paso, TX	El Paso, TX	El Paso, TX
	Bidder 1 of 6	Bidder 3 of 6	
	Group 4: Uns	scheduled Events	
1. The City has allocated \$5	50,000.00 for unscheduled events for the	initial term of this contract – 3 Years.S	ee Scope of Work for pricing details.
Sum Total Group 1, Group 2,	\$2,458,233.00	40 -04 -00 00	\$3,108,089.94
Group 3 & Group 4 (3-Years Total):	Bidder's Price: \$2,458,296.00	\$2,584,560.00	Bidder's Price: \$3,793,780.25





Project Name: Parks Litter Control

Solicitation #: 2021-1071

Bid Opening Date: April 28, 2021

Department: Streets and Maintenance

Bid Opening Date: April 28, 2021			Department: Streets and Maintenance
	Ace Government Services LLC	ASEO INC.	Border TM Industries, Inc. dba Xceed Resources
	El Paso, TX	El Paso, TX	El Paso, TX
	Bidder 1 of 6	Bidder 2 of 6	Bidder 3 of 6
OPTION TO EXTEND THE TERM OF THE AGREEMENT THE CITY AT ITS SOLE DISCRETION, MAY EXERCISE ANY OPTION TO EXTEND THE TERM OF THE AGREEMENT, BY GIVING THE CONTRACTOR WRITTEN NOTICE WITHIN THE TIME PERIOD NOTED ON THE SELECTED OPTIONS. THE TERM OF THIS CONTRACT SHALL BE BASED ON ONE OF THE SELECTIONS BELOW AND UNDER THE SAME TERMS AND CONDITIONS. THE CITY MANAGER OR DESIGNEE MAY EXTEND THE OPTION TO EXTEND. BIDDER OFFERS THE CITY THE OPTION OF EXTENDING THE TERM OF THE CONTRACT			
FOR:			
TWO (2) ADDITIONAL YEARS AT THE SAME UNIT PRICE(S), IF THE OPTION IS EXERCISED PRIOR TO THE EXPIRATION OF THE ORIGINAL TERM OF THE CONTRACT:	X		X
NO OPTION OFFERED			
Amendments Acknowledged:	Yes	Yes	Yes





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Dia (Dening Date: April 2	.0, 2021	Dolto Un	limited, LLC db	a Dalta Baat				l Tepartineni	Streets an	<u>a maintenance</u>
				ntrol & Lawn Se		L&J General Contractors LLC			MG Evergreen LLC.		
			El Paso, TX				El Paso, TX		El Paso, TX		
				Bidder 4 of 6			Bidder 5 of 6			Bidder 6 of	
					Group 1: All	Year Sched	ule				
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
1.	Alethea	52	\$32.00	\$1,664.00	\$4,992.00	\$432.00	\$22,464.00	\$67,392.00	\$24.00	\$1,248.00	\$3,744.00
2.	Armijo	52	\$56.00	\$2,912.00	\$8,736.00	\$2,898.00	\$150,696.00	\$452,088.00	\$93.00	\$4,836.00	\$14,508.00
3.	Austin Park Pond	52	\$20.00	\$1,040.00	\$3,120.00	\$77.40	\$4,024.80	\$12,074.40	\$24.00	\$1,248.00	\$3,744.00
4.	Billy Rogers Arroyo	52	\$22.50	\$1,170.00	\$3,510.00	\$900.00	\$46,800.00	\$140,400.00	\$24.00	\$1,248.00	\$3,744.00
5.	Boys Club	52	\$12.00	\$624.00	\$1,872.00	\$828.00	\$43,056.00	\$129,168.00	\$52.00	\$2,704.00	\$8,112.00
6.	Buena Vista	52	\$18.00	\$936.00	\$2,808.00	\$234.00	\$12,168.00	\$36,504.00	\$24.00	\$1,248.00	\$3,744.00
7.	Calendar	52	\$21.00	\$1,092.00	\$3,276.00	\$132.30	\$6,879.60	\$20,638.80	\$93.00	\$4,836.00	\$14,508.00
8.	Caruso	52	\$3.00	\$156.00	\$468.00	\$32.40	\$1,684.80	\$5,054.40	\$24.00	\$1,248.00	\$3,744.00
9.	Cavalry Man Triangle	52	\$35.00	\$1,820.00	\$5,460.00	\$157.50	\$8,190.00	\$24,570.00	\$93.00	\$4,836.00	\$14,508.00
10.	Chihuahuita	52	\$21.00	\$1,092.00	\$3,276.00	\$310.50	\$16,146.00	\$48,438.00 Bidder's Price: \$48,480.00	\$38.00	\$1,976.00	\$5,928.00

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071 Department: Streets and Maintenance

Opening Date: April 2	28, 2021							Department	t: Streets an	d Maintenance
					L&J	General Contrac	ctors LLC	MG Evergreen LLC.		
			Bidder 4 of 6		Year Schedi				Bidder 6 of	6
		l	Annual	Gloup I. All	Tear Oched			I	Annual	1
Site	Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC
Cielo Vista	52	\$40.00	\$2,080.00	\$6,240.00	\$1,782.00	\$92,664.00	\$277,992.00	\$38.00	\$1,976.00	\$5,928.00
City 3	52	\$22.50	\$1,170.00	\$3,510.00	\$176.40	\$9,172.80	\$27,518.40	\$93.00	\$4,836.00	\$14,508.00
City Hall Parking Lot	52	\$22.50	\$1,170.00	\$3,510.00	\$252.00	\$13,104.00	\$39,312.00	\$93.00	\$4,836.00	\$14,508.00
Cleveland Square Plaza	52	\$70.00	\$3,640.00	\$10,920.00	\$1,323.00	\$68,796.00	\$206,388.00	\$93.00	\$4,836.00	\$14,508.00
Cork	52	\$16.00	\$832.00	\$2,496.00	\$219.60	\$11,419.20	\$34,257.60	\$24.00	\$1,248.00	\$3,744.00
Crestmont	52	\$33.00	\$1,716.00	\$5,148.00	\$1,890.00	\$98,280.00	\$294,840.00	\$38.00	\$1,976.00	\$5,928.00
De Vargas	52	\$15.00	\$780.00	\$2,340.00	\$561.60	\$29,203.20	\$87,609.60	\$38.00	\$1,976.00	\$5,928.00
Doniphan	52	\$16.00	\$832.00	\$2,496.00	\$239.40	\$12,448.80	\$37,346.40	\$24.00	\$1,248.00	\$3,744.00
Duke Court	52	\$10.00	\$520.00	\$1,560.00	\$18.00	\$936.00	\$2,808.00	\$24.00	\$1,248.00	\$3,744.00
Dunn	52	\$6.00	\$312.00	\$936.00	\$106.20	\$5,522.40	\$16,567.20	\$24.00	\$1,248.00	\$3,744.00
	Site Cielo Vista City 3 City Hall Parking Lot Cleveland Square Plaza Cork Crestmont De Vargas Doniphan Duke Court	Cielo Vista 52 City 3 52 City Hall Parking Lot 52 Cleveland Square Plaza 52 Cork 52 Crestmont 52 De Vargas 52 Doniphan 52 Duke Court 52	Site Estimated Weekly Price (B)	Delta Unlimited, LLC db Control & Lawn St El Paso, TX Bidder 4 of 6	Delta Unlimited, LLC dba Delta Pest Control & Lawn Services El Paso, TX Bidder 4 of 6	Delta Unlimited, LLC dba Delta Pest Control & Lawn Services El Paso, TX Bidder 4 of 6 Group 1: All Year Schedule	Delta Unlimited, LLC dba Delta Pest Control & Lawn Services El Paso, TX Bidder 4 of 6 Group 1: All Year Schedule Annual Amount C=AXB	Delta Unlimited, LLC dba Delta Pest Control & Lawn Services El Paso, TX Bidder 4 of 6 Estimated Weeks (A) Weekly Price (B) Annual Amount D=3XC	Delta Unlimited, LLC dba Delta Pest Control & Lawn Services El Paso, TX Bidder 5 of 6 El Paso, TX Bidder 5 o	Delta Unlimited, LLC dba Delta Pest Control & Lawn Services El Paso, TX Bidder 4 of 6 Estimated Weeks (A) Price (B) Annual Annual Price (B) Annual Annual Price (B) Annual Price (B) Annual Annual Price (B) Annual Annual Annual Price (B) Annual Annual Annual Price (B) Annual Annual Annual Annual Price (B) Annual Annual Annual Annual Price (B) Annual Annual Annual Annual Annual Price (B) Annual Price (B) Annual

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

<u> </u>	ppening Date: April 2	epartment	. Streets and	<u>a Maintenance</u>							
			Delta Unlimited, LLC dba Delta Pest Control & Lawn Services			L&J General Contractors LLC			MG Evergreen LLC.		
				El Paso, TX			El Paso, TX			El Paso, T	X
				Bidder 4 of 6			Bidder 5 of 6			Bidder 6 of	
					Group 1: All	Year Sched	ule				
		Estimated		Annual			Annual			Annual	
ITEM	Site	Weeks (A)	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount
		1100110 (71)	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC
21.	Eastwood	52	\$160.00	\$8,320.00	\$24,960.00	\$21,168.00	\$1,100,736.00	\$3,302,208.00	\$100.00	\$5,200.00	\$15,600.00
22.	Edgemere Median	52	\$75.00	\$3,900.00	\$11,700.00	\$5,400.00	\$280,800.00	\$842,400.00	\$38.00	\$1,976.00	\$5,928.00
23.	El Barrio	52	\$8.00	\$416.00	\$1,248.00	\$36.00	\$1,872.00	\$5,616.00	\$24.00	\$1,248.00	\$3,744.00
24.	Estrella Rivera	52	\$8.00	\$416.00	\$1,248.00	\$111.60	\$5,803.20	\$17,409.60	\$24.00	\$1,248.00	\$3,744.00
25.	Fire Fighters Memorial	52	\$25.00	\$1,300.00	\$3,900.00	\$63.00	\$3,276.00	\$9,828.00	\$93.00	\$4,836.00	\$14,508.00
26.	Grace Chope	52	\$12.00	\$624.00	\$1,872.00	\$126.00	\$6,552.00	\$19,656.00	\$24.00	\$1,248.00	\$3,744.00
27.	Haddox Family Park	52	\$24.00	\$1,248.00	\$3,744.00	\$945.00	\$49,140.00	\$147,420.00	\$38.00	\$1,976.00	\$5,928.00
28.	Hawkins, including pool	52	\$32.00	\$1,664.00	\$4,992.00	\$1,800.00	\$93,600.00	\$280,800.00	\$52.00	\$2,704.00	\$8,112.00
29.	Houston	52	\$26.00	\$1,352.00	\$4,056.00	\$405.00	\$21,060.00	\$63,180.00	\$38.00	\$1,976.00	\$5,928.00
30.	John R. Karr Par	52	\$18.00	\$936.00	\$2,808.00 Bidder's Price: \$2,08.00	\$207.00	\$10,764.00	\$32,292.00	\$24.00	\$1,248.00	\$3,744.00





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

<u> Diu</u>	Opening Date: April 2	8, 2021						L	pepartment	: Streets and	d Maintenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC	ı	MG Evergreen	LLC.
				El Paso, TX Bidder 4 of 6			El Paso, TX Bidder 5 of 6			El Paso, T Bidder 6 of	
					Group 1: All	Year Schedu	ıle				
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
31.	Lincoln	52	\$28.00	\$1,456.00	\$4,368.00	\$8,280.00	\$430,560.00	\$1,291,680.00	\$52.00	\$2,704.00	\$8,112.00
32.	Lionel Forti	52	\$70.00	\$3,640.00	\$10,920.00	\$8,424.00	\$438,048.00	\$1,314,144.00	\$52.00	\$2,704.00	\$8,112.00
33.	Lions Plazita	52	\$70.00	\$3,640.00	\$10,920.00	\$1,039.50	\$54,054.00	\$162,162.00	\$93.00	\$4,836.00	\$14,508.00
34.	Liz Morayma Gonzalez	52	\$22.50	\$1,170.00	\$3,510.00	\$1,144.80	\$59,529.60	\$178,588.80	\$38.00	\$1,976.00	\$5,928.00
35.	MacArthur	52	\$22.00	\$1,144.00	\$3,432.00	\$288.00	\$14,976.00	\$44,928.00	\$24.00	\$1,248.00	\$3,744.00
36.	Madeline	52	\$28.00	\$1,456.00	\$4,368.00	\$1,228.50	\$63,882.00	\$191,646.00	\$38.00	\$1,976.00	\$5,928.00
37.	Magoffin Park	52	\$29.00	\$1,508.00	\$4,524.00	\$27.00	\$1,404.00	\$4,212.00	\$38.00	\$1,976.00	\$5,928.00
38.	Marv Webb	52	\$13.00	\$676.00	\$2,028.00	\$553.50	\$28,782.00	\$86,346.00	\$38.00	\$1,976.00	\$5,928.00
39.	Memorial Alta Vista Ball Field	52	\$23.00	\$1,196.00	\$3,588.00	\$405.00	\$21,060.00	\$63,180.00	\$38.00	\$1,976.00	\$5,928.00
40.	Memorial Park & Rose Garden	52	\$200.00	\$10,400.00	\$31,200.00	\$16,524.00	\$859,248.00	\$2,577,744.00	\$100.00	\$5,200.00	\$15,600.00





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Dia	Opening Date: April 2	.0, 2021							epartinent	. Streets and	<u>a maintenance</u>
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC	ı	MG Evergreen	LLC.
				El Paso, TX			El Paso, TX			El Paso, T	
				Bidder 4 of 6	Group 1: All	Voor Cohodi	Bidder 5 of 6			Bidder 6 of	6
				Annual	Group I. All	Tear Scrieur	Annual			Annual	
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC
41.	Memorial Reserve	52	\$28.00	\$1,456.00	\$4,368.00	\$900.00	\$46,800.00	\$140,400.00	\$65.00	\$3,380.00	\$10,140.00
42.	Mesa Terrace	52	\$20.00	\$1,040.00	\$3,120.00	\$293.40	\$15,256.80	\$45,770.40	\$24.00	\$1,248.00	\$3,744.00
43.	Mission Hills	52	\$40.00	\$2,080.00	\$6,240.00	\$2,916.00	\$151,632.00	\$454,896.00	\$38.00	\$1,976.00	\$5,928.00
44.	Modesto Gomez	52	\$110.00	\$5,720.00	\$17,160.00	\$8,691.00	\$451,932.00 Biddet's Price: \$451,947.60	\$1,355,796.00 Bidder's Price: \$1,355,842.80	\$90.00	\$4,680.00	\$14,040.00
45.	Mundy	52	\$7.00	\$364.00	\$1,092.00	\$288.00	\$14,976.00	\$44,928.00	\$24.00	\$1,248.00	\$3,744.00
46.	Murchison Rogers Park	52	\$45.00	\$2,340.00	\$7,020.00	\$72.00	\$3,744.00	\$11,232.00	\$52.00	\$2,704.00	\$8,112.00
47.	Newman	52	\$37.50	\$1,950.00	\$5,850.00	\$1,350.00	\$70,200.00	\$210,600.00	\$38.00	\$1,976.00	\$5,928.00
48.	Normandy	52	\$8.00	\$416.00	\$1,248.00	\$18.00	\$936.00	\$2,808.00	\$24.00	\$1,248.00	\$3,744.00
49.	Paseo De Los Heroes	52	\$60.00	\$3,120.00	\$9,360.00	\$540.00	\$28,080.00	\$84,240.00	\$38.00	\$1,976.00	\$5,928.00
50.	Pennsylvania Circle	52	\$20.00	\$1,040.00	\$3,120.00	\$91.80	\$4,773.60	\$14,320.80	\$24.00	\$1,248.00	\$3,744.00





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

DIU (Opening Date: April 2	38, 2021				_		L	pepartment	: Streets an	d Maintenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC	ı	MG Evergreer	LLC.
				El Paso, TX			El Paso, TX			El Paso, T	X
				Bidder 4 of 6			Bidder 5 of 6			Bidder 6 of	6
					Group 1: All	Year Sched					,
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
51.	Percy Gurrola	52	\$18.00	\$936.00	\$2,808.00	\$115.20	\$5,990.40	\$17,971.20	\$24.00	\$1,248.00	\$3,744.00
52.	Pioneer Plaza	52	\$56.00	\$2,912.00	\$8,736.00	\$126.00	\$6,552.00	\$19,656.00	\$93.00	\$4,836.00	\$14,508.00
53.	Ponder	52	\$135.00	\$7,020.00	\$21,060.00	\$8,316.00	\$432,432.00	\$1,297,296.00	\$52.00	\$2,704.00	\$8,112.00
54.	Portland	52	\$15.00	\$780.00	\$2,340.00	\$36.00	\$1,872.00	\$5,616.00	\$24.00	\$1,248.00	\$3,744.00
55.	Reynolds Median	52	\$50.00	\$2,600.00	\$7,800.00	\$450.00	\$23,400.00	\$70,200.00	\$24.00	\$1,248.00	\$3,744.00
56.	Rim Rd	52	\$24.00	\$1,248.00	\$3,744.00	\$1,350.00	\$70,200.00	\$210,600.00	\$38.00	\$1,976.00	\$5,928.00
57.	Saipan Ledo	52	\$90.00	\$4,680.00	\$14,040.00	\$1,512.00	\$78,624.00	\$235,872.00	\$38.00	\$1,976.00	\$5,928.00
58.	San Juan Placita	52	\$12.00	\$624.00	\$1,872.00	\$54.00	\$2,808.00	\$8,424.00	\$52.00	\$2,704.00	\$8,112.00
59.	San Juan Rec Center	52	\$18.00	\$936.00	\$2,808.00	\$108.00	\$5,616.00	\$16,848.00	\$52.00	\$2,704.00	\$8,112.00
60.	Scenic Dr.	52	\$52.50	\$2,730.00	\$8,190.00	\$1,350.00	\$70,200.00	\$210,600.00	\$38.00	\$1,976.00	\$5,928.00





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Dia	opening Date: April 2	.0, 2021						<u>L</u>	epai illielli	. Jucets and	a Maintenance
			Delta Unlimited, LLC dba Delta Pest Control & Lawn Services			L&J General Contractors LLC			MG Evergreen LLC.		
				El Paso, TX			El Paso, TX			El Paso, T	
				Bidder 4 of 6	Croup 4: All	Voor Cohod	Bidder 5 of 6			Bidder 6 of	6
				Annual	Group 1: All	Year Sched	Annual	I		Annual	T T
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC
61.	Serenity Garden	52	\$7.00	\$364.00	\$1,092.00	\$18.00	\$936.00	\$2,808.00	\$24.00	\$1,248.00	\$3,744.00
62.	Seville	52	\$10.00	\$520.00	\$1,560.00	\$180.00	\$9,360.00	\$28,080.00	\$24.00	\$1,248.00	\$3,744.00
63.	South El Paso Sr. Ctr.	52	\$10.00	\$520.00	\$1,560.00	\$180.00	\$9,360.00	\$28,080.00	\$24.00	\$1,248.00	\$3,744.00
64.	Tom Lea Lower	52	\$30.00	\$1,560.00	\$4,680.00	\$5,490.00	\$285,480.00	\$856,440.00	\$24.00	\$1,248.00	\$3,744.00
65.	Tom Lea Upper	52	\$12.00	\$624.00	\$1,872.00	\$1,296.00	\$67,392.00	\$202,176.00	\$52.00	\$2,704.00	\$8,112.00
66.	Tula Irrobali	52	\$12.50	\$650.00	\$1,950.00	\$360.00	\$18,720.00	\$56,160.00	\$24.00	\$1,248.00	\$3,744.00
67.	Union Plaza	52	\$17.50	\$910.00	\$2,730.00	\$63.00	\$3,276.00	\$9,828.00	\$93.00	\$4,836.00	\$14,508.00
68.	Vista Del Valle	52	\$105.00	\$5,460.00	\$16,380.00	\$7,966.80	\$414,273.60	\$1,242,820.80	\$52.00	\$2,704.00	\$8,112.00
69.	Washington	52	\$15.00	\$780.00	\$2,340.00	\$4,320.00	\$224,640.00	\$673,920.00	\$52.00	\$2,704.00	\$8,112.00
70.	WWII Veterans of Company E	52	\$120.00	\$6,240.00	\$18,720.00	\$4,449.60	\$231,379.20	\$694,137.60	\$52.00	\$2,704.00	\$8,112.00





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

	pennig Date. April 2	,		limited, LLC db		18.1	General Contrac		· · · · · · · · · · · · · · · · · · ·	MG Evergreer	LLC
			Coi	ntrol & Lawn Se					'	_	
				El Paso, TX Bidder 4 of 6			El Paso, TX Bidder 5 of 6			El Paso, T Bidder 6 of	
				214401 4 01 0		Year Sched				<u> </u>	
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
71.	Arbor Green	52	\$17.00	\$884.00	\$2,652.00	\$253.80	\$13,197.60	\$39,592.80	\$24.00	\$1,248.00	\$3,744.00
72.	Aviators	52	\$12.00	\$624.00	\$1,872.00	\$201.60	\$10,483.20	\$31,449.60	\$24.00	\$1,248.00	\$3,744.00
73.	Brisa Del Este	52	\$14.00	\$728.00	\$2,184.00	\$912.60	\$47,455.20	\$142,365.60	\$24.00	\$1,248.00	\$3,744.00
74.	Burning Mesquite Park	52	\$12.00	\$624.00	\$1,872.00	\$1,998.00	\$103,896.00	\$311,688.00	\$24.00	\$1,248.00	\$3,744.00
75.	Cactus Point Park	52	\$12.00	\$624.00	\$1,872.00	\$505.80	\$26,301.60	\$78,904.80	\$24.00	\$1,248.00	\$3,744.00
76.	Carlos Bombach	52	\$60.00	\$3,120.00	\$9,360.00	\$2,160.00	\$112,320.00	\$336,960.00	\$52.00	\$2,704.00	\$8,112.00
77.	Chester Jordan	52	\$35.00	\$1,820.00	\$5,460.00	\$2,700.00	\$140,400.00	\$421,200.00	\$38.00	\$1,976.00	\$5,928.00
78.	Cielo Dorado Park	52	\$12.00	\$624.00	\$1,872.00	\$453.60	\$23,587.20	\$70,761.60	\$24.00	\$1,248.00	\$3,744.00
79.	Coyote Cave Park	52	\$5.00	\$260.00	\$780.00	\$376.20	\$19,562.40	\$58,687.20	\$24.00	\$1,248.00	\$3,744.00
80.	Coyote Park	52	\$7.50	\$390.00	\$1,170.00	\$291.60	\$15,163.20	\$45,489.60	\$38.00	\$1,976.00	\$5,928.00





Project Name: Parks Litter Control

Solicitation #: 2021-1071
Department: Streets and Maintenance

Bid (Opening Date: April 2	8, 2021							Department	: Streets an	d Maintenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	tors LLC		MG Evergreen	LLC.
				El Paso, TX			El Paso, TX			El Paso, T	X
				Bidder 4 of 6			Bidder 5 of 6			Bidder 6 of	
					Group 1: All	Year Sched	ule				
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
81.	Dawn View at Horizon	52	\$7.50	\$390.00	\$1,170.00	\$421.20	\$21,902.40	\$65,707.20	\$38.00	\$1,976.00	\$5,928.00
82.	Desert Garden Park	52	\$7.50	\$390.00	\$1,170.00	\$705.60	\$36,691.20	\$110,073.60	\$24.00	\$1,248.00	\$3,744.00
83.	Desert Sands	52	\$28.50	\$1,482.00	\$4,446.00	\$144.00	\$7,488.00	\$22,464.00	\$24.00	\$1,248.00	\$3,744.00
84.	Dick Schinaut	52	\$60.00	\$3,120.00	\$9,360.00	\$5,220.00	\$271,440.00	\$814,320.00	\$52.00	\$2,704.00	\$8,112.00
85.	Dreamland Park	52	\$9.00	\$468.00	\$1,404.00	\$758.70	\$39,452.40	\$118,357.20	\$38.00	\$1,976.00	\$5,928.00
86.	East Cave Park	52	\$9.00	\$468.00	\$1,404.00	\$1,409.40	\$73,288.80	\$219,866.40	\$24.00	\$1,248.00	\$3,744.00
87.	Eastside Regional	52	\$120.00	\$6,240.00	\$18,720.00	\$4,500.00	\$234,000.00	\$702,000.00	\$65.00	\$3,380.00	\$10,140.00
88.	Eastside Sports Complex	52	\$230.00	\$11,960.00	\$35,880.00	\$35,550.00	\$1,848,600.00	\$5,545,800.00	\$100.00	\$5,200.00	\$15,600.00
89.	Eddie "Hirby" Beard Park	52	\$9.00	\$468.00	\$1,404.00	\$710.10	\$36,925.20	\$110,775.60	\$38.00	\$1,976.00	\$5,928.00
90.	Edgemere/Freeport Park Pond	52	\$20.00	\$1,040.00	\$3,120.00	\$32.40	\$1,684.80	\$5,054.40	\$24.00	\$1,248.00	\$3,744.00





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

<u>Bia (</u>	Opening Date: April 2	30, 2021						L	epartment	: Streets an	d Maintenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC	MG Evergreen LLC.		
				El Paso, TX			El Paso, TX			El Paso, T	
				Bidder 4 of 6		Year Sched	Bidder 5 of 6			Bidder 6 of	6
				Annual	Group 1. All	Tear Scrieur	Annual		Ι	Annual	
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC
91.	Espanola	52	\$14.00	\$728.00	\$2,184.00	\$547.20	\$28,454.40	\$85,363.20	\$24.00	\$1,248.00	\$3,744.00
92.	Fostering Fun Linear	52	\$32.00	\$1,664.00	\$4,992.00	\$969.30	\$50,403.60	\$151,210.80	\$38.00	\$1,976.00	\$5,928.00
93.	Frank T. "Francis" Hourigan	52	\$22.50	\$1,170.00	\$3,510.00	\$595.80	\$30,981.60	\$92,944.80	\$24.00	\$1,248.00	\$3,744.00
94.	Holly Springs	52	\$120.00	\$6,240.00	\$18,720.00	\$3,024.00	\$157,248.00	\$471,744.00	\$38.00	\$1,976.00	\$5,928.00
95.	Hueco Estates 1	52	\$12.00	\$624.00	\$1,872.00	\$203.40	\$10,576.80	\$31,730.40	\$24.00	\$1,248.00	\$3,744.00
96.	Hueco Estates 2	52	\$12.00	\$624.00	\$1,872.00	\$178.20	\$9,266.40	\$27,799.20	\$24.00	\$1,248.00	\$3,744.00
97.	Hueco Mountain	52	\$8.00	\$416.00	\$1,248.00	\$142.20	\$7,394.40	\$22,183.20	\$24.00	\$1,248.00	\$3,744.00
98.	Hunters Creek Park	52	\$8.00	\$416.00	\$1,248.00	\$229.50	\$11,934.00	\$35,802.00	\$38.00	\$1,976.00	\$5,928.00
99.	Indian Heights	52	\$8.00	\$416.00	\$1,248.00	\$18.00	\$936.00	\$2,808.00	\$24.00	\$1,248.00	\$3,744.00
100.	Indian Ridge 10	52	\$5.00	\$260.00	\$780.00	\$360.00	\$18,720.00	\$56,160.00	\$24.00	\$1,248.00	\$3,744.00

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.





Project Name: Parks Litter Control
Rid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Bid O	pening Date: April 2	28, 2021							Department	t: Streets an	d Maintenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC	ı	MG Evergreer	LLC.
				El Paso, TX			El Paso, TX			El Paso, T	
				Bidder 4 of 6		 	Bidder 5 of 6			Bidder 6 of	6
				Annual	Group 1: All	Year Schedu	Annual			Annual	ı
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC
101.	Indian Ridge 9	52	\$5.00	\$260.00	\$780.00	\$180.00	\$9,360.00	\$28,080.00	\$24.00	\$1,248.00	\$3,744.00
102.	John Lyons	52	\$25.00	\$1,300.00	\$3,900.00	\$2,350.00	\$122,200.00 Bidder's Price: \$122,241.60	\$366,600.00 Bidder's Price: \$366,724.80	\$52.00	\$2,704.00	\$8,112.00
103.	Kip Hall Park	52	\$8.00	\$416.00	\$1,248.00	\$385.20	\$20,030.40	\$60,091.20	\$24.00	\$1,248.00	\$3,744.00
104.	La Puesta Del Sol	52	\$20.00	\$1,040.00	\$3,120.00	\$550.80	\$28,641.60	\$85,924.80	\$24.00	\$1,248.00	\$3,744.00
105.	Loma Chica Park	52	\$10.00	\$520.00	\$1,560.00	\$221.40	\$11,512.80	\$34,538.40	\$24.00	\$1,248.00	\$3,744.00
106.	Loma Linda	52	\$12.00	\$624.00	\$1,872.00	\$360.00	\$18,720.00	\$56,160.00	\$24.00	\$1,248.00	\$3,744.00
107.	Marty Robbins	52	\$150.00	\$7,800.00	\$23,400.00	\$10,800.00	\$561,600.00	\$1,684,800.00	\$52.00	\$2,704.00	\$8,112.00
108.	McCarthy	52	\$25.00	\$1,300.00	\$3,900.00	\$405.00	\$21,060.00	\$63,180.00	\$24.00	\$1,248.00	\$3,744.00
109.	Mequite Hills 5	52	\$9.00	\$468.00	\$1,404.00	\$2,187.00	\$113,724.00	\$341,172.00	\$38.00	\$1,976.00	\$5,928.00
110.	Miners Park	52	\$9.00	\$468.00	\$1,404.00	\$673.20	\$35,006.40	\$105,019.20	\$24.00	\$1,248.00	\$3,744.00

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Dia C	Opening Date: April 2	.0, 2021	1			1			epartineni	i. Sireeis an	<u>a Maintenance</u>
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC	ı	MG Evergreer	LLC.
				El Paso, TX			El Paso, TX			El Paso, T	X
				Bidder 4 of 6			Bidder 5 of 6			Bidder 6 of	6
					Group 1: All	Year Sched	ule				
ITEM	Site	Estimated Weeks (A)	Weekly	Annual Amount	3-Year Amount	Weekly	Annual Amount	3-Year Amount	Weekly	Annual Amount	3-Year Amount
		1100110 (71)	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC
111.	Montwood Heights	52	\$18.00	\$936.00	\$2,808.00	\$900.00	\$46,800.00	\$140,400.00	\$24.00	\$1,248.00	\$3,744.00
112.	Officer Adrian Arellano Park	52	\$27.00	\$1,404.00	\$4,212.00	\$1,332.00	\$69,264.00	\$207,792.00	\$38.00	\$1,976.00	\$5,928.00
113.	Palm Grove	52	\$22.50	\$1,170.00	\$3,510.00	\$1,006.20	\$52,322.40	\$156,967.20	\$24.00	\$1,248.00	\$3,744.00
114.	Paseo Del Sol	52	\$40.00	\$2,080.00	\$6,240.00	\$1,925.10	\$100,105.20	\$300,315.60	\$38.00	\$1,976.00	\$5,928.00
115.	Pebble Hills	52	\$38.00	\$1,976.00	\$5,928.00	\$1,746.00	\$90,792.00	\$272,376.00	\$24.00	\$1,248.00	\$3,744.00
116.	Pico Norte	52	\$40.00	\$2,080.00	\$6,240.00	\$2,970.00	\$154,440.00	\$463,320.00	\$38.00	\$1,976.00	\$5,928.00
117.	Piedra Volcanica	52	\$22.50	\$1,170.00	\$3,510.00	\$558.00	\$29,016.00	\$87,048.00	\$24.00	\$1,248.00	\$3,744.00
118.	Priceless Linear	52	\$45.00	\$2,340.00	\$7,020.00	\$547.20	\$28,454.40	\$85,363.20	\$24.00	\$1,248.00	\$3,744.00
119.	Rainbow Vista Park	52	\$9.00	\$468.00	\$1,404.00	\$1,985.40	\$103,240.80	\$309,722.40	\$24.00	\$1,248.00	\$3,744.00
120.	Ranchos Del Sol	52	\$100.00	\$5,200.00	\$15,600.00	\$6,412.50	\$333,450.00	\$1,000,350.00	\$65.00	\$3,380.00	\$10,140.00





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

	Opening Date: April 2	.0, 2021						<u>L</u>	epartineni	. Streets an	d Maintenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC	ı	MG Evergreer	LLC.
				El Paso, TX			El Paso, TX			El Paso, T	
				Bidder 4 of 6		Year Sched	Bidder 5 of 6			Bidder 6 of	6
				Annual	Group I. All	Tear Scrieur	Annual	l		Annual	
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC
121.	Reese McCord	52	\$90.00	\$4,680.00	\$14,040.00	\$5,760.00	\$299,520.00	\$898,560.00	\$52.00	\$2,704.00	\$8,112.00
122.	Sal Beroterran	52	\$42.50	\$2,210.00	\$6,630.00	\$2,700.00	\$140,400.00	\$421,200.00	\$38.00	\$1,976.00	\$5,928.00
123.	Salvador Rivas	52	\$100.00	\$5,200.00	\$15,600.00	\$6,210.00	\$322,920.00	\$968,760.00	\$52.00	\$2,704.00	\$8,112.00
124.	Sgt. Jesus Roberto Vasquez USMC	52	\$42.50	\$2,210.00	\$6,630.00	\$1,067.40	\$55,504.80	\$166,514.40	\$24.00	\$1,248.00	\$3,744.00
125.	Spanish Castle	52	\$22.50	\$1,170.00	\$3,510.00	\$1,249.20	\$64,958.40	\$194,875.20	\$24.00	\$1,248.00	\$3,744.00
126.	Stanton Heights	52	\$25.00	\$1,300.00	\$3,900.00	\$360.00	\$18,720.00	\$56,160.00	\$24.00	\$1,248.00	\$3,744.00
127.	Starduster	52	\$24.00	\$1,248.00	\$3,744.00	\$588.60	\$30,607.20	\$91,821.60	\$38.00	\$1,976.00	\$5,928.00
128.	Stone Rock	52	\$18.00	\$936.00	\$2,808.00	\$1,062.00	\$55,224.00	\$165,672.00	\$24.00	\$1,248.00	\$3,744.00
129.	Suenos Encantados	52	\$9.00	\$468.00	\$1,404.00	\$311.40	\$16,192.80	\$48,578.40	\$24.00	\$1,248.00	\$3,744.00
130.	Suffolk	52	\$15.00	\$780.00	\$2,340.00	\$180.00	\$9,360.00	\$28,080.00	\$24.00	\$1,248.00	\$3,744.00

22.5





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071

Bid C	pening Date: April 2	28, 2021							Department	:: Streets an	<u>d Maintenance</u>
				limited, LLC db ntrol & Lawn So		L&J	General Contrac	ctors LLC	ı	MG Evergreer	LLC.
				El Paso, TX			El Paso, TX			El Paso, T	
				Bidder 4 of 6		 Year Sched	Bidder 5 of 6	<u> </u>		Bidder 6 of	6
			I	Annual	Croup 1. All	l	Annual		I	Annual	
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC
131.	Sunny Brook	52	\$22.50	\$1,170.00	\$3,510.00	\$966.60	\$50,263.20	\$150,789.60	\$38.00	\$1,976.00	\$5,928.00
132.	Sweet Dream Park	52	\$15.00	\$780.00	\$2,340.00	\$542.70	\$28,220.40	\$84,661.20	\$38.00	\$1,976.00	\$5,928.00
133.	Tierra Buena Park	52	\$22.50	\$1,170.00	\$3,510.00	\$1,476.00	\$76,752.00	\$230,256.00	\$52.00	\$2,704.00	\$8,112.00
134.	Tierra Del Sol	52	\$22.50	\$1,170.00	\$3,510.00	\$1,101.60	\$57,283.20	\$171,849.60	\$38.00	\$1,976.00	\$5,928.00
135.	Tierra Vista Park	52	\$18.00	\$936.00	\$2,808.00	\$375.30	\$19,515.60	\$58,546.80	\$38.00	\$1,976.00	\$5,928.00
136.	Tim Foster Park	52	\$32.50	\$1,690.00	\$5,070.00	\$1,116.00	\$58,032.00	\$174,096.00	\$24.00	\$1,248.00	\$3,744.00
137.	Travis White	52	\$100.00	\$5,200.00	\$15,600.00	\$3,780.00	\$196,560.00	\$589,680.00	\$38.00	\$1,976.00	\$5,928.00
138.	Tyrone	52	\$12.00	\$624.00	\$1,872.00	\$216.00	\$11,232.00	\$33,696.00	\$24.00	\$1,248.00	\$3,744.00
139.	Ventanas Cove	52	\$15.00	\$780.00	\$2,340.00	\$874.80	\$45,489.60	\$136,468.80	\$24.00	\$1,248.00	\$3,744.00
140.	Ventanas Destiny	52	\$45.00	\$2,340.00	\$7,020.00	\$1,350.00	\$70,200.00	\$210,600.00	\$38.00	\$1,976.00	\$5,928.00





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Bla (Opening Date: April 2	8, 2021						L	epartment	:: Streets an	d Maintenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC		MG Evergreer	LLC.
				El Paso, TX			El Paso, TX			El Paso, T	
				Bidder 4 of 6		Vaar Cahad	Bidder 5 of 6			Bidder 6 of	6
			Т	Annual	Group 1: All	Year Sched	uie Annual	Ι	ı	Annual	I
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC
141.	Ventanas Spring	52	\$24.00	\$1,248.00	\$3,744.00	\$1,366.20	\$71,042.40	\$213,127.20	\$38.00	\$1,976.00	\$5,928.00
142.	Ventanas Willow	52	\$35.00	\$1,820.00	\$5,460.00	\$1,355.40	\$70,480.80	\$211,442.40	\$38.00	\$1,976.00	\$5,928.00
143.	Vivid Dreams	52	\$12.00	\$624.00	\$1,872.00	\$549.00	\$28,548.00	\$85,644.00	\$24.00	\$1,248.00	\$3,744.00
144.	Walter Clarke	52	\$60.00	\$3,120.00	\$9,360.00	\$4,455.00	\$231,660.00	\$694,980.00	\$38.00	\$1,976.00	\$5,928.00
145.	West Texas Estates	52	\$18.00	\$936.00	\$2,808.00	\$313.20	\$16,286.40	\$48,859.20	\$24.00	\$1,248.00	\$3,744.00
146.	Whispering Rock Park	52	\$15.00	\$780.00	\$2,340.00	\$180.00	\$9,360.00	\$28,080.00	\$24.00	\$1,248.00	\$3,744.00
147.	Winners	52	\$22.50	\$1,170.00	\$3,510.00	\$437.40	\$22,744.80	\$68,234.40	\$24.00	\$1,248.00	\$3,744.00
148.	Ylairam Ruby Morgan Park	52	\$18.00	\$936.00	\$2,808.00	\$468.00	\$24,336.00	\$73,008.00	\$24.00	\$1,248.00	\$3,744.00
149.	ARGAL PARK	52	\$85.00	\$4,420.00	\$13,260.00	\$10,480.50	\$544,986.00	\$1,634,958.00	\$65.00	\$3,380.00	\$10,140.00
150.	Blackie Chesher	52	\$375.00	\$19,500.00	\$58,500.00	\$23,760.00	\$1,235,520.00	\$3,706,560.00	\$100.00	\$5,200.00	\$15,600.00

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.





Project Name: Parks Litter Control

Solicitation #: 2021-1071

Bid Opening Date: April 28, 2021

Department: Streets and Maintenance

<u>Dia C</u>	pening Date: April 2	.0, 202 1							repartiment	. Oti eets and	u Maintenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC	ı	MG Evergreen	LLC.
				El Paso, TX			El Paso, TX			El Paso, T	x
				Bidder 4 of 6			Bidder 5 of 6			Bidder 6 of	
					Group 1: All	Year Sched	ule				
				Annual	<u>. </u>		Annual			Annual	
ITEM	Site	Estimated	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount
		Weeks (A)	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC
151.	Capistrano	52	\$65.00	\$3,380.00	\$10,140.00	\$7,020.00	\$365,040.00	\$1,095,120.00	\$38.00	\$1,976.00	\$5,928.00
152.	Caribe	52	\$25.00	\$1,300.00	\$3,900.00	\$360.00	\$18,720.00	\$56,160.00	\$24.00	\$1,248.00	\$3,744.00
153.	Cedar Grove Pond	52	\$120.00	\$6,240.00	\$18,720.00	\$2,599.20	\$135,158.40	\$405,475.20	\$24.00	\$1,248.00	\$3,744.00
154.	E.L. Williams	52	\$25.00	\$1,300.00	\$3,900.00	\$1,404.00	\$73,008.00	\$219,024.00	\$38.00	\$1,976.00	\$5,928.00
155.	Gran Vista Park	52	\$15.00	\$780.00	\$2,340.00	\$180.00	\$9,360.00	\$28,080.00	\$24.00	\$1,248.00	\$3,744.00
156.	Green Lilac	52	\$12.00	\$624.00	\$1,872.00	\$144.00	\$7,488.00	\$22,464.00	\$24.00	\$1,248.00	\$3,744.00
157.	Hidden Valley	52	\$40.00	\$2,080.00	\$6,240.00	\$2,295.00	\$119,340.00	\$358,020.00	\$38.00	\$1,976.00	\$5,928.00
158.	Independence Trail	52	\$90.00	\$4,680.00	\$14,040.00	\$174.60	\$9,079.20	\$27,237.60	\$24.00	\$1,248.00	\$3,744.00
159.	J. P. Shawver	52	\$240.00	\$12,480.00	\$37,440.00	\$6,717.60	\$349,315.20	\$1,047,945.60	\$90.00	\$4,680.00	\$14,040.00
160.	Jamestown	52	\$32.00	\$1,664.00	\$4,992.00	\$772.20	\$40,154.40	\$120,463.20	\$38.00	\$1,976.00	\$5,928.00





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Diu U	pening Date: April 2	20, 2021						L	epartment	: Streets an	d Maintenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC	MG Evergreen LLC.		
				El Paso, TX			El Paso, TX			El Paso, T	
				Bidder 4 of 6	0 4 411	<u> </u>	Bidder 5 of 6			Bidder 6 of	6
		ı		Ammural	Group 1: All	Year Sched		I	1	Annual	I
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
161.	Lancaster	52	\$75.00	\$3,900.00	\$11,700.00	\$1,517.40	\$78,904.80	\$236,714.40	\$38.00	\$1,976.00	\$5,928.00
162.	Lomaland	52	\$55.00	\$2,860.00	\$8,580.00	\$3,924.00	\$204,048.00	\$612,144.00	\$52.00	\$2,704.00	\$8,112.00
163.	Marian Manor	52	\$35.00	\$1,820.00	\$5,460.00	\$2,457.00	\$127,764.00	\$383,292.00	\$38.00	\$1,976.00	\$5,928.00
164.	Mesa Drain	52	\$20.00	\$1,040.00	\$3,120.00	\$270.00	\$14,040.00	\$42,120.00	\$38.00	\$1,976.00	\$5,928.00
165.	Officer David Ortiz Park	52	\$62.50	\$3,250.00	\$9,750.00	\$3,801.60	\$197,683.20	\$593,049.60	\$52.00	\$2,704.00	\$8,112.00
166.	Pavo Real	52	\$100.00	\$5,200.00	\$15,600.00	\$6,948.00	\$361,296.00	\$1,083,888.00	\$52.00	\$2,704.00	\$8,112.00
167.	Pecan Grove 1	52	\$7.50	\$390.00	\$1,170.00	\$81.00	\$4,212.00	\$12,636.00	\$24.00	\$1,248.00	\$3,744.00
168.	Pecan Grove 2	52	\$9.00	\$468.00	\$1,404.00	\$117.00	\$6,084.00	\$18,252.00	\$24.00	\$1,248.00	\$3,744.00
169.	Playa Drain Trail	52	\$135.00	\$7,020.00	\$21,060.00	\$873.00	\$45,396.00	\$136,188.00	\$24.00	\$1,248.00	\$3,744.00
170.	Pueblo Viejo	52	\$125.00	\$6,500.00	\$19,500.00	\$5,940.00	\$308,880.00	\$926,640.00	\$38.00	\$1,976.00	\$5,928.00

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Bid C	Opening Date: April 2	28, 2021							Department	:: Streets an	d Maintenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC		MG Evergreen	LLC.
				El Paso, TX			El Paso, TX	,		El Paso, T	X
				Bidder 4 of 6			Bidder 5 of 6			Bidder 6 of	
					Group 1: All	Year Sched	ule				
ITEM	Site	Estimated Weeks (A)	Weekly	Annual Amount	3-Year Amount	Weekly	Annual Amount	3-Year Amount	Weekly	Annual Amount	3-Year Amount
		Weeks (A)	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC
171.	Riverside	52	\$27.50	\$1,430.00	\$4,290.00	\$1,161.00	\$60,372.00	\$181,116.00	\$38.00	\$1,976.00	\$5,928.00
172.	SPC Adrian Garcia	52	\$15.00	\$780.00	\$2,340.00	\$18.00	\$936.00	\$2,808.00	\$24.00	\$1,248.00	\$3,744.00
173.	Stiles	52	\$27.50	\$1,430.00	\$4,290.00	\$1,890.00	\$98,280.00	\$294,840.00	\$38.00	\$1,976.00	\$5,928.00
174.	Thomas Manor	52	\$55.00	\$2,860.00	\$8,580.00	\$3,294.00	\$171,288.00	\$513,864.00	\$38.00	\$1,976.00	\$5,928.00
175.	Ysleta	52	\$20.00	\$1,040.00	\$3,120.00	\$1,296.00	\$67,392.00	\$202,176.00	\$52.00	\$2,704.00	\$8,112.00
176.	Ysleta Pedestrian	52	\$10.00	\$520.00	\$1,560.00	\$288.00	\$14,976.00	\$44,928.00	\$24.00	\$1,248.00	\$3,744.00
177.	Yucca + Crime Victim's Memorial	52	\$75.00	\$3,900.00	\$11,700.00	\$5,351.40	\$278,272.80	\$834,818.40	\$38.00	\$1,976.00	\$5,928.00
178.	Arlington	52	\$145.00	\$7,540.00	\$22,620.00	\$2,116.80	\$110,073.60	\$330,220.80	\$38.00	\$1,976.00	\$5,928.00
179.	Barron	52	\$75.00	\$3,900.00	\$11,700.00	\$2,192.40	\$114,004.80	\$342,014.40	\$52.00	\$2,704.00	\$8,112.00
180.	Chuck Heinrich	52	\$230.00	\$11,960.00	\$35,880.00	\$4,698.00	\$244,296.00	\$732,888.00	\$38.00	\$1,976.00	\$5,928.00





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

<u> Biu (</u>	Opening Date: April 2	0, 2021						<u>L</u>	epartment	: Streets an	d Maintenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	tors LLC	MG Evergreen LLC.		
				El Paso, TX			El Paso, TX			El Paso, T	X
				Bidder 4 of 6			Bidder 5 of 6			Bidder 6 of	6
					Group 1: All	Year Sched	ule				
		Estimated		Annual			Annual			Annual	
ITEM	Site	Weeks (A)	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount	Weekly	Amount	3-Year Amount
		Weeks (A)	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC	Price (B)	C=AXB	D=3XC
181.	Colonia Verde	52	\$40.00	\$2,080.00	\$6,240.00	\$556.20	\$28,922.40	\$86,767.20	\$38.00	\$1,976.00	\$5,928.00
182.	Dolphin	52	\$50.00	\$2,600.00	\$7,800.00	\$720.00	\$37,440.00	\$112,320.00	\$24.00	\$1,248.00	\$3,744.00
183.	Franklin	52	\$60.00	\$3,120.00	\$9,360.00	\$2,700.00	\$140,400.00	\$421,200.00	\$38.00	\$1,976.00	\$5,928.00
184.	Futureland Park	52	\$12.00	\$624.00	\$1,872.00	\$88.20	\$4,586.40	\$13,759.20	\$24.00	\$1,248.00	\$3,744.00
185.	Grandview	52	\$250.00	\$13,000.00	\$39,000.00	\$5,040.00	\$262,080.00	\$786,240.00	\$52.00	\$2,704.00	\$8,112.00
186.	Honey Mesquite Park	52	\$21.00	\$1,092.00	\$3,276.00	\$291.60	\$15,163.20	\$45,489.60	\$38.00	\$1,976.00	\$5,928.00
187.	Joey Barraza and Vino Memorial Park	52	\$170.00	\$8,840.00	\$26,520.00	\$20,977.20	\$1,090,814.40	\$3,272,443.20	\$100.00	\$5,200.00	\$15,600.00
188.	Johnson Basin	52	\$20.00	\$1,040.00	\$3,120.00	\$1,225.80	\$63,741.60	\$191,224.80	\$38.00	\$1,976.00	\$5,928.00
189.	Jorge Almada	52	\$40.00	\$2,080.00	\$6,240.00	\$1,980.00	\$102,960.00	\$308,880.00	\$24.00	\$1,248.00	\$3,744.00
190.	Jorge Montalvo	52	\$50.00	\$2,600.00	\$7,800.00	\$1,348.20	\$70,106.40	\$210,319.20	\$24.00	\$1,248.00	\$3,744.00





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

<u> Dia C</u>	Opening Date: April 2	36, 2021						L	epartment	: Streets an	d Maintenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC		MG Evergreer	LLC.
				El Paso, TX			El Paso, TX			El Paso, T	
				Bidder 4 of 6		l Year Schedu	Bidder 5 of 6			Bidder 6 of	<u> </u>
		Estimated		Annual			Annual			Annual	
ITEM	Site	Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC
191.	Logan	52	\$45.00	\$2,340.00	\$7,020.00	\$750.60	\$39,031.20	\$117,093.60	\$38.00	\$1,976.00	\$5,928.00
192.	Louisiana Dam	52	\$15.00	\$780.00	\$2,340.00	\$364.50	\$18,954.00	\$56,862.00	\$38.00	\$1,976.00	\$5,928.00
193.	Lt. Col. Robert "Bob" Chisolm Park	52	\$25.00	\$1,300.00	\$3,900.00	\$691.20	\$35,942.40	\$107,827.20	\$24.00	\$1,248.00	\$3,744.00
194.	McKelligon Canyon	52	\$450.00	\$23,400.00	\$70,200.00	\$18,900.00	\$982,800.00	\$2,948,400.00	\$24.00	\$1,248.00	\$3,744.00
195.	Mesquite Bush Park	52	\$20.00	\$1,040.00	\$3,120.00	\$212.40	\$11,044.80	\$33,134.40	\$24.00	\$1,248.00	\$3,744.00
196.	Mesquite Hills Park	52	\$20.00	\$1,040.00	\$3,120.00	\$432.00	\$22,464.00	\$67,392.00	\$24.00	\$1,248.00	\$3,744.00
197.	Mesquite Trail 1 LT	52	\$35.00	\$1,820.00	\$5,460.00	\$66.60	\$3,463.20	\$10,389.60	\$24.00	\$1,248.00	\$3,744.00
198.	Mesquite Trail 2 LT	52	\$22.50	\$1,170.00	\$3,510.00	\$213.30	\$11,091.60	\$33,274.80	\$38.00	\$1,976.00	\$5,928.00
199.	Milagro	52	\$35.00	\$1,820.00	\$5,460.00	\$500.40	\$26,020.80	\$78,062.40	\$24.00	\$1,248.00	\$3,744.00
200.	Mountain View	52	\$25.00	\$1,300.00	\$3,900.00	\$1,071.00	\$55,692.00	\$167,076.00	\$24.00	\$1,248.00	\$3,744.00





Project Name: Parks Litter Control

Solicitation #: 2021-1071
Department: Streets and Maintenance

Bid (Opening Date: April 2	8, 2021	Delta Unlimited, LLC dba Delta Pest						Department: Streets and Maintenance		
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC	ı	MG Evergreen	LLC.
				El Paso, TX			El Paso, TX			El Paso, T	
				Bidder 4 of 6		l I Year Schedı	Bidder 5 of 6			Bidder 6 of	6
		Estimated		Annual			Annual			Annual	
ITEM	Site	Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC
201.	Nations Tobin	52	\$165.00	\$8,580.00	\$25,740.00	\$15,480.00	\$804,960.00	\$2,414,880.00	\$100.00	\$5,200.00	\$15,600.00
202.	Nolan Richardson, including Phase II	52	\$25.00	\$1,300.00	\$3,900.00	\$630.00	\$32,760.00	\$98,280.00	\$24.00	\$1,248.00	\$3,744.00
203.	North Desert Park	52	\$18.00	\$936.00	\$2,808.00	\$367.20	\$19,094.40	\$57,283.20	\$38.00	\$1,976.00	\$5,928.00
204.	North Skies	52	\$35.00	\$1,820.00	\$5,460.00	\$1,506.60	\$78,343.20	\$235,029.60	\$24.00	\$1,248.00	\$3,744.00
205.	Northern Lights North	52	\$8.00	\$416.00	\$1,248.00	\$306.00	\$15,912.00	\$47,736.00	\$24.00	\$1,248.00	\$3,744.00
206.	Northern Lightsd South	52	\$8.00	\$416.00	\$1,248.00	\$244.80	\$12,729.60	\$38,188.80	\$24.00	\$1,248.00	\$3,744.00
207.	Pollard Pond	52	\$20.00	\$1,040.00	\$3,120.00	\$282.60	\$14,695.20	\$44,085.60	\$24.00	\$1,248.00	\$3,744.00
208.	Redstone Villaqe	52	\$18.00	\$936.00	\$2,808.00	\$480.60	\$24,991.20	\$74,973.60	\$38.00	\$1,976.00	\$5,928.00
209.	Sandstone Ranch	52	\$30.00	\$1,560.00	\$4,680.00	\$1,809.00	\$94,068.00	\$282,204.00	\$38.00	\$1,976.00	\$5,928.00
210.	Sandstone Ranch Estates	52	\$30.00	\$1,560.00	\$4,680.00	\$1,350.00	\$70,200.00	\$210,600.00	\$38.00	\$1,976.00	\$5,928.00

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Big C	pening Date: April 2	28, 2021						L	epartment	:: Streets an	<u>d Maintenance</u>
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC	ı	MG Evergreen	LLC.
				El Paso, TX			El Paso, TX			El Paso, T	
				Bidder 4 of 6	Group 1: All	 Year Sched	Bidder 5 of 6			Bidder 6 of	6
Т			<u> </u>	Annual	Group 1. An	Tear Scried	Annual			Annual	
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC
211.	Skyline	52	\$300.00	\$15,600.00	\$46,800.00	\$4,500.00	\$234,000.00	\$702,000.00	\$24.00	\$1,248.00	\$3,744.00
212.	Student Memorial	52	\$27.50	\$1,430.00	\$4,290.00	\$412.20	\$21,434.40	\$64,303.20	\$24.00	\$1,248.00	\$3,744.00
213.	Sue Young	52	\$140.00	\$7,280.00	\$21,840.00	\$8,712.00	\$453,024.00	\$1,359,072.00	\$52.00	\$2,704.00	\$8,112.00
214.	Summerlin	52	\$16.00	\$832.00	\$2,496.00	\$288.00	\$14,976.00	\$44,928.00	\$24.00	\$1,248.00	\$3,744.00
215.	Summit Fillmore	52	\$12.00	\$624.00	\$1,872.00	\$259.20	\$13,478.40	\$40,435.20	\$24.00	\$1,248.00	\$3,744.00
216.	Sunrise	52	\$100.00	\$5,200.00	\$15,600.00	\$1,440.00	\$74,880.00	\$224,640.00	\$24.00	\$1,248.00	\$3,744.00
217.	Todd Ware	52	\$110.00	\$5,720.00	\$17,160.00	\$2,025.00	\$105,300.00	\$315,900.00	\$38.00	\$1,976.00	\$5,928.00
218.	Veteran's	52	\$250.00	\$13,000.00	\$39,000.00	\$15,840.00	\$823,680.00	\$2,471,040.00	\$85.00	\$4,420.00	\$13,260.00
219.	Wellington Chew	52	\$28.00	\$1,456.00	\$4,368.00	\$540.00	\$28,080.00	\$84,240.00	\$24.00	\$1,248.00	\$3,744.00
220.	White Mesquite	52	\$20.00	\$1,040.00	\$3,120.00	\$180.00	\$9,360.00	\$28,080.00	\$38.00	\$1,976.00	\$5,928.00

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

<u>Dia (</u>	pening Date: April 2	.0, 2021				ī		<u>L</u>	epartineni	i. Sireeis an	a maintenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC	ı	MG Evergreer	LLC.
				El Paso, TX			El Paso, TX	,		El Paso, T	'X
				Bidder 4 of 6			Bidder 5 of 6			Bidder 6 of	6
					Group 1: All	Year Sched					
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
221.	Wilderness Museum	52	\$16.00	\$832.00	\$2,496.00	\$360.00	\$18,720.00	\$56,160.00	\$24.00	\$1,248.00	\$3,744.00
222.	Amber Sun	52	\$16.00	\$832.00	\$2,496.00	\$282.60	\$14,695.20	\$44,085.60	\$24.00	\$1,248.00	\$3,744.00
223.	Artcraft	52	\$20.00	\$1,040.00	\$3,120.00	\$405.00	\$21,060.00	\$63,180.00	\$52.00	\$2,704.00	\$8,112.00
224.	Autumn Sage Park	52	\$14.00	\$728.00	\$2,184.00	\$187.20	\$9,734.40	\$29,203.20	\$24.00	\$1,248.00	\$3,744.00
225.	Bartlett	52	\$14.00	\$728.00	\$2,184.00	\$1,116.00	\$58,032.00	\$174,096.00	\$24.00	\$1,248.00	\$3,744.00
226.	Borderland	52	\$18.00	\$936.00	\$2,808.00	\$270.00	\$14,040.00	\$42,120.00	\$38.00	\$1,976.00	\$5,928.00
227.	Braden Aboud	52	\$120.00	\$6,240.00	\$18,720.00	\$3,105.00	\$161,460.00	\$484,380.00	\$38.00	\$1,976.00	\$5,928.00
228.	Cimarron Canyon	52	\$12.00	\$624.00	\$1,872.00	\$137.70	\$7,160.40	\$21,481.20	\$38.00	\$1,976.00	\$5,928.00
229.	Cimarron Cove Park	52	\$16.00	\$832.00	\$2,496.00	\$307.80	\$16,005.60	\$48,016.80	\$38.00	\$1,976.00	\$5,928.00
230.	Cimarron Sage # 2	52	\$14.00	\$728.00	\$2,184.00	\$424.80	\$22,089.60	\$66,268.80	\$24.00	\$1,248.00	\$3,744.00





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

	Opening Date. April 2	.0, 202 :		limited, LLC db		1.8.1	General Contrac		•	MG Evergreer	LLC
			Coı	ntrol & Lawn Se		Las				_	
				El Paso, TX Bidder 4 of 6			El Paso, TX Bidder 5 of 6			El Paso, T Bidder 6 of	
					Group 1: All	Year Sched					
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
231.	Cimarron Unit 1	52	\$14.00	\$728.00	\$2,184.00	\$37.98	\$1,974.96	\$5,924.88	\$24.00	\$1,248.00	\$3,744.00
232.	Coach Jack D. Quarles	52	\$40.00	\$2,080.00	\$6,240.00	\$547.20	\$28,454.40	\$85,363.20	\$24.00	\$1,248.00	\$3,744.00
233.	Desert Vista	52	\$20.00	\$1,040.00	\$3,120.00	\$241.20	\$12,542.40	\$37,627.20	\$24.00	\$1,248.00	\$3,744.00
234.	Eagle Vista	52	\$18.00	\$936.00	\$2,808.00	\$187.20	\$9,734.40	\$29,203.20	\$24.00	\$1,248.00	\$3,744.00
235.	Ellis Lateral LT	52	\$30.00	\$1,560.00	\$4,680.00	\$630.00	\$32,760.00	\$98,280.00	\$24.00	\$1,248.00	\$3,744.00
236.	Enchanted Hills Park #3	52	\$40.00	\$2,080.00	\$6,240.00	\$781.20	\$40,622.40	\$121,867.20	\$24.00	\$1,248.00	\$3,744.00
237.	Esmeralda	52	\$40.00	\$2,080.00	\$6,240.00	\$595.80	\$30,981.60	\$92,944.80	\$24.00	\$1,248.00	\$3,744.00
238.	Francisco Delgado	52	\$40.00	\$2,080.00	\$6,240.00	\$1,215.00	\$63,180.00	\$189,540.00	\$38.00	\$1,976.00	\$5,928.00
239.	Franklin Hills # 8	52	\$12.00	\$624.00	\$1,872.00	\$100.80	\$5,241.60	\$15,724.80	\$24.00	\$1,248.00	\$3,744.00
240.	Galatzan Park	52	\$215.00	\$11,180.00	\$33,540.00	\$7,704.00	\$400,608.00	\$1,201,824.00	\$52.00	\$2,704.00	\$8,112.00

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.





Project Name: Parks Litter Control

Solicitation #: 2021-1071

Bid C	Opening Date: April 2	28, 2021							Department	: Streets an	d Maintenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC		MG Evergreen	LLC.
				El Paso, TX			El Paso, TX			El Paso, T	
				Bidder 4 of 6		Year Sched	Bidder 5 of 6			Bidder 6 of	6
		ı	Г	Annual	Group 1: All	Tear Scheul	Annual	I	ı	Annual	Ι
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Amount C=AXB	3-Year Amount D=3XC
241.	H. T. Ponsford	52	\$30.00	\$1,560.00	\$4,680.00	\$1,309.50	\$68,094.00	\$204,282.00	\$38.00	\$1,976.00	\$5,928.00
242.	High Desert	52	\$20.00	\$1,040.00	\$3,120.00	\$216.00	\$11,232.00	\$33,696.00	\$24.00	\$1,248.00	\$3,744.00
243.	Inca Dove	52	\$22.50	\$1,170.00	\$3,510.00	\$372.60	\$19,375.20	\$58,125.60	\$24.00	\$1,248.00	\$3,744.00
244.	Irwin J Lambka	52	\$100.00	\$5,200.00	\$15,600.00	\$3,564.00	\$185,328.00	\$555,984.00	\$38.00	\$1,976.00	\$5,928.00
245.	James Schwitters Family Park	52	\$14.00	\$728.00	\$2,184.00	\$73.80	\$3,837.60	\$11,512.80 Bidder's Price: \$111,512.80	\$24.00	\$1,248.00	\$3,744.00
246.	King River	52	\$12.00	\$624.00	\$1,872.00	\$82.80	\$4,305.60	\$12,916.80	\$24.00	\$1,248.00	\$3,744.00
247.	Linda Daw Hudson	52	\$42.00	\$2,184.00	\$6,552.00	\$1,018.80	\$52,977.60	\$158,932.80	\$24.00	\$1,248.00	\$3,744.00
248.	Little River	52	\$12.00	\$624.00	\$1,872.00	\$165.60	\$8,611.20	\$25,833.60	\$24.00	\$1,248.00	\$3,744.00
249.	Lomas Del Sol #4	52	\$16.00	\$832.00	\$2,496.00	\$246.60	\$12,823.20	\$38,469.60	\$24.00	\$1,248.00	\$3,744.00
250.	Lost Dog Trail	52	\$10.00	\$520.00	\$1,560.00	\$41.40	\$2,152.80	\$6,458.40	\$24.00	\$1,248.00	\$3,744.00





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

<u> Bia (</u>	Opening Date: April 2	8, 2021						L	epartment	:: Streets and	d Maintenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC	ı	MG Evergreen	LLC.
				El Paso, TX			El Paso, TX			El Paso, T	X
				Bidder 4 of 6			Bidder 5 of 6			Bidder 6 of	6
					Group 1: All	Year Schedu					
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
251.	Mary Frances Keisling Park	52	\$250.00	\$13,000.00	\$39,000.00	\$13,500.00	\$702,000.00	\$2,106,000.00	\$38.00	\$1,976.00	\$5,928.00
252.	Mesa Vista	52	\$16.00	\$832.00	\$2,496.00	\$207.00	\$10,764.00	\$32,292.00	\$24.00	\$1,248.00	\$3,744.00
253.	Montoya Heights	52	\$30.00	\$1,560.00	\$4,680.00	\$864.00	\$44,928.00	\$134,784.00	\$38.00	\$1,976.00	\$5,928.00
254.	Ojo De Agua	52	\$22.00	\$1,144.00	\$3,432.00	\$329.40	\$17,128.80	\$51,386.40	\$24.00	\$1,248.00	\$3,744.00
255.	Pacific	52	\$20.00	\$1,040.00	\$3,120.00	\$360.00	\$18,720.00	\$56,160.00	\$24.00	\$1,248.00	\$3,744.00
256.	Palo Verde	52	\$18.00	\$936.00	\$2,808.00	\$288.00	\$14,976.00	\$44,928.00	\$24.00	\$1,248.00	\$3,744.00
257.	Park Hills	52	\$28.00	\$1,456.00	\$4,368.00	\$621.00	\$32,292.00	\$96,876.00	\$24.00	\$1,248.00	\$3,744.00
258.	Paul Harvey	52	\$52.00	\$2,704.00 Bidder's Price: \$2,730.00	\$8,112.00 Bidder's Price: \$8,190.00	\$2,178.90	\$113,302.80	\$339,908.40	\$38.00	\$1,976.00	\$5,928.00
259.	Promontory Area	52	\$6.00	\$312.00	\$936.00	\$28.80	\$1,497.60	\$4,492.80	\$24.00	\$1,248.00	\$3,744.00
260.	Rio Grande River Trail	52	\$100.00	\$5,200.00	\$15,600.00	\$10,980.00	\$570,960.00	\$1,712,880.00	\$125.00	\$6,500.00	\$19,500.00

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Dia (Opening Date: April 2	.0, 2021							epartinent	. Streets an	a Maintenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC	ı	MG Evergreer	LLC.
				El Paso, TX			El Paso, TX			El Paso, T	X
			<u> </u>	Bidder 4 of 6		<u> </u>	Bidder 5 of 6			Bidder 6 of	6
				Amminal	Group 1: All	Year Sched			·	A	ı
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
261.	River Park West 1	52	\$20.00	\$1,040.00	\$3,120.00	\$183.60	\$9,547.20	\$28,641.60	\$24.00	\$1,248.00	\$3,744.00
262.	Sereno Park	52	\$14.00	\$728.00	\$2,184.00	\$66.60	\$3,463.20	\$10,389.60	\$24.00	\$1,248.00	\$3,744.00
263.	Sereno Trail	52	\$16.00	\$832.00	\$2,496.00	\$122.40	\$6,364.80	\$19,094.40	\$24.00	\$1,248.00	\$3,744.00
264.	Snow Heights	52	\$20.00	\$1,040.00	\$3,120.00	\$315.00	\$16,380.00	\$49,140.00	\$24.00	\$1,248.00	\$3,744.00
265.	South Dakota	52	\$45.00	\$2,340.00	\$7,020.00	\$653.40	\$33,976.80	\$101,930.40	\$24.00	\$1,248.00	\$3,744.00
266.	Sunset Terrace LT	52	\$28.00	\$1,456.00	\$4,368.00	\$514.80	\$26,769.60	\$80,308.80	\$24.00	\$1,248.00	\$3,744.00
267.	Sunset View	52	\$14.00	\$728.00	\$2,184.00	\$273.60	\$14,227.20	\$42,681.60	\$24.00	\$1,248.00	\$3,744.00
268.	Thorn	52	\$30.00	\$1,560.00	\$4,680.00	\$621.00	\$32,292.00	\$96,876.00	\$24.00	\$1,248.00	\$3,744.00
269.	West Green	52	\$30.00	\$1,560.00	\$4,680.00	\$810.00	\$42,120.00	\$126,360.00	\$24.00	\$1,248.00	\$3,744.00
270.	Westside Community	52	\$200.00	\$10,400.00	\$31,200.00	\$4,896.00	\$254,592.00	\$763,776.00	\$52.00	\$2,704.00	\$8,112.00

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

<u> Blu (</u>	Opening Date: April 2	0, 2021						<u>L</u>	epartment	: Streets an	d Maintenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC	ı	MG Evergreer	LLC.
				El Paso, TX			El Paso, TX			El Paso, T	X
				Bidder 4 of 6			Bidder 5 of 6			Bidder 6 of	6
					Group 1: All	Year Schedu					
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
271.	Westside Sports Complex	52	\$200.00	\$10,400.00	\$31,200.00	\$16,200.00	\$842,400.00	\$2,527,200.00	\$100.00	\$5,200.00	\$15,600.00
272.	WESTSIDE SPSPL / LOCOMOTIVE SIDE	52	\$50.00	\$2,600.00	\$7,800.00	\$900.00	\$46,800.00	\$140,400.00	\$52.00	\$2,704.00	\$8,112.00
273.	White Spur	52	\$45.00	\$2,340.00	\$7,020.00	\$999.00	\$51,948.00	\$155,844.00	\$38.00	\$1,976.00	\$5,928.00
274.	Willow River	52	\$20.00	\$1,040.00	\$3,120.00	\$327.60	\$17,035.20	\$51,105.60	\$24.00	\$1,248.00	\$3,744.00
275.	Promontory at Montecillo (Montecillo Unit 4A)	52	\$20.00	\$1,040.00	\$3,120.00	Left Blank	Left Blank	Left Blank	\$24.00	\$1,248.00	\$3,744.00
276.	Cimarron #1 Replant A - Pocket Park (Open Space Area)	52	\$8.00	\$416.00	\$1,248.00	Left Blank	Left Blank	Left Blank	\$24.00	\$1,248.00	\$3,744.00
277.	Cimarron Sage #2 - Pocket Park	52	\$20.00	\$1,040.00	\$3,120.00	Left Blank	Left Blank	Left Blank	\$24.00	\$1,248.00	\$3,744.00
278.	Enchanted Hills Trail (Enchanted Hills #1 Subd.)	52	\$10.00	\$520.00	\$1,560.00	Left Blank	Left Blank	Left Blank	\$24.00	\$1,248.00	\$3,744.00
279.	Enchanted Hills Trail (Enchanted Hills #2 Subd.)	52	\$12.00	\$624.00	\$1,872.00	Left Blank	Left Blank	Left Blank	\$24.00	\$1,248.00	\$3,744.00
280.	Rio Valley Central Park (Rio Valley Rep. A Subd.)	52	\$20.00	\$1,040.00	\$3,120.00	Left Blank	Left Blank	Left Blank	\$24.00	\$1,248.00	\$3,744.00





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

Dia (ppening Date: April 2	0, 2021	•						epartment	. Streets and	a maintenance
	Delta Unlimited, LLC dba Delta Control & Lawn Services El Paso. TX					L&J	General Contrac	ctors LLC	ı	MG Evergreen	LLC.
				El Paso, TX			El Paso, TX			El Paso, T	
				Bidder 4 of 6		<u> </u>	Bidder 5 of 6			Bidder 6 of	6
					Group 1: All	Year Sched		1			T
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
281.	Rio Valley North Exercise Trail (Rio Valley Rep. A Subd.)	52	\$20.00	\$1,040.00	\$3,120.00	Left Blank	Left Blank	Left Blank	\$24.00	\$1,248.00	\$3,744.00
282.	Rio Valley North Park Trail (Rio Valley Rep. A Subd.)	52	\$18.00	\$936.00	\$2,808.00	Left Blank	Left Blank	Left Blank	\$24.00	\$1,248.00	\$3,744.00
283.	Rio Valley South Park Trail (Rio Valley Rep. A Subd.)	52	\$18.00	\$936.00	\$2,808.00	Left Blank	Left Blank	Left Blank	\$24.00	\$1,248.00	\$3,744.00
284.	Rio Valley Speranza Trail (Rio Valley Rep. A Subd.)	52	\$8.00	\$416.00	\$1,248.00	Left Blank	Left Blank	Left Blank	\$24.00	\$1,248.00	\$3,744.00
285.	Cimarron Park	52	\$21.00	\$1,092.00	\$3,276.00	Left Blank	Left Blank	Left Blank	\$38.00	\$1,976.00	\$5,928.00
286.	Indian Heights	52	\$6.00	\$312.00	\$936.00	Left Blank	Left Blank	Left Blank	\$38.00	\$1,976.00	\$5,928.00
287.	Mesquite Hill Hike and Bike Trail	52	\$60.00	\$3,120.00	\$9,360.00	Left Blank	Left Blank	Left Blank	\$38.00	\$1,976.00	\$5,928.00
288.	Mesquite Trail 3LT	52	\$8.00	\$416.00	\$1,248.00	Left Blank	Left Blank	Left Blank	\$38.00	\$1,976.00	\$5,928.00
289.	River Bend Trail	52	\$75.00	\$3,900.00	\$11,700.00	Left Blank	Left Blank	Left Blank	\$38.00	\$1,976.00	\$5,928.00
290.	San Jacinto	52	\$20.00	\$1,040.00	\$3,120.00	Left Blank	Left Blank	Left Blank	\$38.00	\$1,976.00	\$5,928.00
	Sum Total (Items 1-290)			\$668,252.00 Bidder's Price: \$668,278.00	\$2,004,756.00 Bidder's Price: \$2,004,834.00		\$30,056,924.56 Bidder's Price: \$30,056,981.76	\$90,170,773.68 Bidder's Price: \$90,170,945.28		\$554,840.00	\$1,664,520.00





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

<u>Біа (</u>	Opening Date: April 2	8, 2021						L	epartment	: Streets an	d Maintenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC		MG Evergreen	LLC.
				El Paso, TX	,		El Paso, TX	,		El Paso, T	X
				Bidder 4 of 6			Bidder 5 of 6			Bidder 6 of	6
					Group 2: Sea	sonal Sched		1		1	1
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
1.	Marty Robbins Spray Park May 1 - October 1	22	\$264.00	\$5,808.00	\$17,424.00	\$1,260.00	\$27,720.00	\$83,160.00	\$140.00	\$3,080.00	\$9,240.00
2.	Salvador Rivas Spray Park May 1 - October 1	22	\$264.00	\$5,808.00	\$17,424.00	\$6,210.00	\$136,620.00	\$409,860.00	\$140.00	\$3,080.00	\$9,240.00
3.	Hidden Valley Spray Park May 1 - October 1	22	\$264.00	\$5,808.00	\$17,424.00	\$1,260.00	\$27,720.00	\$83,160.00	\$140.00	\$3,080.00	\$9,240.00
4.	Pavo Real Spray Park May 1 - October 1	22	\$264.00	\$5,808.00	\$17,424.00	\$882.00	\$19,404.00	\$58,212.00	\$140.00	\$3,080.00	\$9,240.00
5.	Grandview Pool (Memorial Day - Labor Day)	15	\$180.00	\$2,700.00 Bidder's Price: \$3,960.00	\$8,100.00 Bidder's Price: \$11,808.00	\$180.00	\$2,700.00	\$8,100.00	\$100.00	\$1,500.00	\$4,500.00
6.	Grandview Spray Park May 1 - October 1	22	\$220.00	\$4,840.00	\$14,520.00	\$756.00	\$16,632.00	\$49,896.00	\$140.00	\$3,080.00	\$9,240.00
7.	Nations Tobin Pool (Memorial Day - Labor Day)	15	\$150.00	\$2,250.00	\$6,750.00	\$450.00	\$6,750.00	\$20,250.00	\$100.00	\$1,500.00	\$4,500.00
8.	Sue Young Spray Park May 1 - October 1	22	\$220.00	\$4,840.00	\$14,520.00	\$1,260.00	\$27,720.00	\$83,160.00	\$140.00	\$3,080.00	\$9,240.00
9.	Braden Aboud Spray Park May 1 - October 1 The information conta	22	\$220.00	\$4,840.00	\$14,520.00	\$1,260.00	\$27,720.00	\$83,160.00	\$140.00	\$3,080.00	\$9,240.00





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071 Department: Streets and Maintenance

Dia v	opening Date. April 2	0, 2021							cpai union	. Oticets and	a Mannenance
				limited, LLC db ntrol & Lawn Se		L&J	General Contrac	ctors LLC	MG Evergreen LLC.		
				El Paso, TX Bidder 4 of 6			El Paso, TX Bidder 5 of 6			El Paso, T Bidder 6 of	
					Group 2: Sea	sonal Sched	lule				
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
10.	Westside Community Spray Park May 1 - October 1	22	\$220.00	\$4,840.00	\$14,520.00	\$630.00	\$13,860.00	\$41,580.00	\$140.00	\$3,080.00	\$9,240.00
11.	Hawkins Elementary Jun-Aug	25	\$250.00	\$6,250.00	\$18,750.00	\$471.60	\$11,790.00 Bidder's Price: \$10,375.20	\$35,370.00 Bidder's Price: \$31,125.60	\$100.00	\$2,500.00	\$7,500.00
12.	Camp Cohen Water Park May 1 - October 1	22	\$425.00	\$9,350.00	\$28,050.00	Left Blank	Left Blank	Left Blank	\$275.00	\$6,050.00	\$18,150.00
13.	Chapoteo Water Park May 1 - October 1	22	\$275.00	\$6,050.00	\$18,150.00	Left Blank	Left Blank	Left Blank	\$140.00	\$3,080.00	\$9,240.00
14.	Lost Kingdom Water Park May 1 - October 1	22	\$250.00	\$5,500.00	\$16,500.00	Left Blank	Left Blank	Left Blank	\$140.00	\$3,080.00	\$9,240.00
15.	Oasis Water Park May 1 - October 1	22	\$250.00	\$5,500.00	\$16,500.00	Left Blank	Left Blank	Left Blank	\$140.00	\$3,080.00	\$9,240.00
16.	Roger Brown Field Jun-Aug	25	\$5.00	\$125.00	\$375.00	Left Blank	Left Blank	Left Blank	\$100.00	\$2,500.00	\$7,500.00
	Sum Total (Items 1	-16)		\$80,317.00 Bidder's Price:	\$240,951.00 Bidder's Price:		\$318,636.00 Bidder's Price:	\$955,908.00 Bidder's Price:		\$47,930.00	\$143,790.00
				\$81,577.00	\$244,731.00		\$317,221.20	\$951,663.60			





Project Name: Parks Litter Control Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071
Department: Streets and Maintenance

	, ,	.0, 2021		limited, LLC db		L&J	General Contrac		1	/IG Evergreer	LLC.
				El Paso, TX Bidder 4 of 6			El Paso, TX Bidder 5 of 6			El Paso, T Bidder 6 of	
					Group 3: Ho	liday Schedu	ıle		•		
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC
1.	Eastwood Park	4	\$625.00	\$2,500.00	\$7,500.00	\$21,168.00	\$84,672.00	\$254,016.00	\$1,000.00	\$4,000.00	\$12,000.00
2.	Memorial Park	4	\$625.00	\$2,500.00	\$7,500.00	\$16,524.00	\$66,096.00	\$198,288.00	\$1,000.00	\$4,000.00	\$12,000.00
3.	Veterans Park	4	\$625.00	\$2,500.00	\$7,500.00	\$15,840.00	\$63,360.00	\$190,080.00	\$1,000.00	\$4,000.00	\$12,000.00
4.	Nations Tobin Park	4	\$625.00	\$2,500.00	\$7,500.00	\$15,480.00	\$61,920.00	\$185,760.00	\$1,000.00	\$4,000.00	\$12,000.00
5.	Braden Aboud Park	4	\$625.00	\$2,500.00	\$7,500.00	\$3,105.00	\$12,420.00	\$37,260.00	\$1,000.00	\$4,000.00	\$12,000.00
6.	Hidden Valley	4	\$625.00	\$2,500.00	\$7,500.00	\$2,295.00	\$9,180.00	\$27,540.00	\$1,000.00	\$4,000.00	\$12,000.00
7.	Pavo Real	4	\$625.00	\$2,500.00	\$7,500.00	\$6,948.00	\$27,792.00	\$83,376.00	\$1,000.00	\$4,000.00	\$12,000.00





Project Name: Parks Litter Control

Solicitation #: 2021-1071

Bid Opening Date: April 28, 2021

Department: Streets and Maintenance

<u> Dia (</u>	Bid Opening Date. April 20, 2021											
			Delta Unlimited, LLC dba Delta Pest Control & Lawn Services			L&J General Contractors LLC			MG Evergreen LLC.			
				El Paso, TX			El Paso, TX			El Paso, TX		
			Bidder 4 of 6			Bidder 5 of 6			Bidder 6 of 6			
	Group 3: Holiday Schedule											
ITEM	Site	Estimated Weeks (A)	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	Weekly Price (B)	Annual Amount C=AXB	3-Year Amount D=3XC	
8.	Sue Young	4	\$625.00	\$2,500.00	\$7,500.00	\$8,712.00	\$34,848.00	\$104,544.00	\$1,000.00	\$4,000.00	\$12,000.00	
9.	Westside Community	4	\$625.00	\$2,500.00	\$7,500.00	\$4,896.00	\$19,584.00	\$58,752.00	\$1,000.00	\$4,000.00	\$12,000.00	
10.	Salvador Rivas	4	\$625.00	\$2,500.00	\$7,500.00	\$6,210.00	\$24,840.00	\$74,520.00	\$1,000.00	\$4,000.00	\$12,000.00	
11.	Lionel Forti	4	\$625.00	\$2,500.00	\$7,500.00	\$8,424.00	\$33,696.00	\$101,088.00	\$1,000.00	\$4,000.00	\$12,000.00	
12.	Grandview	4	\$625.00	\$2,500.00	\$7,500.00	\$5,040.00	\$20,160.00	\$60,480.00	\$1,000.00	\$4,000.00	\$12,000.00	
Sum Total (Items 1-12)				\$30,000.00	\$90,000.00		\$458,568.00	\$1,375,704.00		\$48,000.00	\$144,000.00	





Project Name: Parks Litter Control

Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071

Department: Streets and Maintenance

Department: Streets and Mainte								
	Delta Unlimited, LLC dba Delta Pest Control & Lawn Services	L&J General Contractors LLC	MG Evergreen LLC.					
	El Paso, TX	El Paso, TX	El Paso, TX					
	Bidder 4 of 6	Bidder 5 of 6	Bidder 6 of 6					
Group 4: Unscheduled Events								
1. The City has allocated \$50,000.00 for unscheduled events for the initial term of this contract – 3 Years.See Scope of Work for pricing details.								
Sum Total Group 1, Group 2,	\$2,335,707.00	\$92,502,385.68	\$1,808,520.00					
Group 3 & Group 4 (3-Years Total):	Bidder's Price: \$2,389,565.00	Bidder's Price: \$92,498,312.88	Bidder's Price: \$2,002,310.00					





Project Name: Parks Litter Control

Bid Opening Date: April 28, 2021

Solicitation #: 2021-1071

Department: Streets and Maintenance

	Delta Unlimited, LLC dba Delta Pest Control & Lawn Services	L&J General Contractors LLC	MG Evergreen LLC.
	El Paso, TX Bidder 4 of 6	EI Paso, TX Bidder 5 of 6	El Paso, TX Bidder 6 of 6
OPTION TO EXTEND THE TERM OF THE AGREEMENT			
HE CITY AT ITS SOLE DISCRETION, MAY KERCISE ANY OPTION TO EXTEND THE TERM F THE AGREEMENT, BY GIVING THE CONTRACTOR WRITTEN NOTICE WITHIN THE ME PERIOD NOTED ON THE SELECTED PTIONS. THE TERM OF THIS CONTRACT HALL BE BASED ON ONE OF THE ELECTIONS BELOW AND UNDER THE SAME ERMS AND CONDITIONS. THE CITY ANAGER OR DESIGNEE MAY EXTEND THE PTION TO EXTEND.			
DDER OFFERS THE CITY THE OPTION OF KTENDING THE TERM OF THE CONTRACT DR:			
NO (2) ADDITIONAL YEARS AT THE SAME NIT PRICE(S), IF THE OPTION IS EXERCISED RIOR TO THE EXPIRATION OF THE RIGINAL TERM OF THE CONTRACT:	X	X	X
O OPTION OFFERED			
mendments Acknowledged:	Yes	No	Yes

SOLICITATION 2021-1071 Parks Litter Control

MG Evergreen LLC. 9701 Eastridge El Paso, TX 79925 Attn: Mario A. Gonzalez

Prime Irrigation & Landscaping 5438 Gateway East El Paso, TX 79905 Attn: Mr. Ricardo Gutierrez

Mainscape, Inc 13418 Britton Park Rd. Fisher IN 46038 Attn: Jill Dougherty

Delgado's Repair and Maintenance 12437 Kari Anne Dr. El Paso, TX 79928 Attn: Alberto Delgado Guma Services LLC dba Bright Growing Landscape and Maintenance 1201 N. El Paso, Apt 5 El Paso, TX 79902

Ransom Lawn Service, Inc 1315 Magoffin Ave. El Paso, TX 79901 Ms. Pattie Fell

Stiles General Contractors LLC 6505 S. Angora Loop El Paso, TX 79934 Border TM Ind. Dba Xceed Resources 201 N. Clark El Paso, TX 79905 Mr. Everardo M. Sanchez

Blazing Property Services 9011 Belk St. El Paso, TX 79904 Attn: Paulina Keller

Abescape Landscaping and Irrigation 1751 Glen Campell Dr.. El Paso, TX 79936